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IMPORTANT INSTRUCTIONS

This Booklet has a cover ( this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear

the right side of the bocklet cover carefully to open the booklet. Then proceed to answer the
guestions.

This Question Booklet contains 200 questions.

Answer all questions. All questions carry equal marks,

-You musl write your Register Number in the space provided on the top right side of this bage. Do

not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator tc mark the answers. You
must write your Name, Register No., Question Booklet S1. No. and other particulars on side 1 of the
Answer Sheet provided, failing which your Answer Sheet will not be evaluated.

You will also encode your Register Number, Subject Cade, Question Booklet Sl. Ne. ete., with Blue

. or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not

encode properly or fail to encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses [A), (B}, (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets (A ][ B | [ C | and [ D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each gquestion in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B} Is the correct answer, you have to mark as follows :

(A1 W [C1D]

You should not remove or tear off any sheet from this Question Booklet, You are not allowed to Iakc>
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over. '

Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answer in the Question Booklet.
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whssMESe Heeussmipu geatemriauwpn Ceemeulstamwew, smellanwd
GeDUugen epeotd BHs (P wHpnd Caueme auninllenen AfeyuBSs
b, @& wigGmLw SHSS ?

Al Clggmb Gusgsid B)  Glaupuireodr

C) QGansen D) AC. 0.

Involuntary uﬁemployment existing at the time of depression. could be

eliminated and employment expanded by cutting down wages. - whose opinion is
this ?

A) Jerany Bentham , B) Heberler
C}  Gossen \D/] A.C. Pigou.

swlErsE aummGon® Hueler om msiCaurt Ggflalss e o fRamwse
SiuurHuL B Cuiss sniqug. Bikhg sabprens,

A pam | B) &

C) He fupsmensenselul®d #fl D)  CuhHomdw ageb Seene.
Under indifference curve analysis the consumer cannot go beyond stating his

preference. This statement is

A)  False \Bﬂ True

C}  True under certain conditions D}  None of these.

gmyp WLESERGEGL Gurgsinrer ey OsruugsHars aOssuLbSstn
e 500 arenLulsl euemsemws ClgfwnuBssib «gb

A) 2 emeu ungEIILS S b

B) z.emej ppsHleors Sl

C) eswey Heunysor Sl b

D) Cuphamblu agaid Beoeme.

The type of food subsidy to provide poor people with adequate quantity of food is

known as

A) Food protection programme
\9{\ Food stamp programime

C) Food relief programme

D) None of the above,
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4. Sifidl wppd L aew Brad GunpLes Bmriusns SguwreafsgCsner.
aurey - Qeevas Sl gheo i@l LmiE 75% sysab WHLIb SSEUELW
aupones Goemey, Onfpsdl 0.8 &@é svwrsad GméGwCurg uneSs
su(hinnen lsSpsluwinensg;

Al 1.6 ' B) 26
c) 1.0 D) 0.75.

Assume that there are two commodities, rice and milk. If rice accounts for 75%
ol the budget and has the income elasticity equal to 0.8, then the income
elasticity of milk is

\‘5[\ 1.6 - B) 26
C) 1.0 D} 0.75.

5 @ren@ Curmehamen @ gué.l'r(?asnnff mnn&:@,tﬁ@un@ QeedlLu@eughans
RESEM Clawb UsToreng (ppeugions Bgsh surlleons oeowdps)

A} Suan(® Qunmenaseafler LaCaigy seweneusaflen SiLss (pen 2 Asnwser
B} @rsu® Quagsiseilsn udGeury scnmaseflar @it B pen 2 fAenwast
C) Srew® Glunmeiaaflen seoaneusefiss J[L_ésas st o fNemweEEHL o0
wHmib @UIC® (psn 2.Aemwagpd Hsde0
D) Cuhsmmfw agiapd Beensv.
The allocation of a consumer’s money expehditure on the purchases of two
goods has been made fully in terms of
A) absolute preferences of the various combinations of two goods
relative preferences of the varicus combinations of two goods
C) neither absolute nor relative preferences of the combinations of two goods
D)  none of the above.
6. mewmenwl Gunmengrrsded mrbd yHswrs seuamd Qagjggmgj LIwiehr
Beveonsms selliliLg 60608 Bo@eaug - Pengd sadlueut wes ?
A) b svlflg B)  gsouil wriayed
C) T.R. oredggev D)  A.P. Gleofesrir.
“In micro economics we are more concerned with the avoidance of elimination of
waste”. — who made this statement ?

A} Adam Smith 'B)  Alfred Marshall

C} T.R. Malthus \pﬁ\ A.P. Lerner.
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@ Gunmergrrsdles o eren Bismw el Friy whmb uswsSlen Gmiy
S FHwemen
A} misimennl QlUNEHETNSNTS &HSSI(H
B) Quflwed Qungerngmy a@gg@
C) mewrenflwe wHmw Cuilwe smsgImey s
D) Cuhblsrenen sigayn Bevanev.

The liquidity preference function and the stock of money in the economy are

A) Micro economic concepts

\B{\ Macro economic concepts
C) both micro and macro economic concepts
D) none of the above.

CewnuGolurme 2 L w gsitenw smECarst @GBlliug astanblausprsd Gk
misiCGami A whmb B BenCuw sHBmevembwrseyd whmith B whpb C
B Cu pBmeowrsad Bubgre sigivrallssiu@ag aeeTclasnie)
D6u6hT :
A} A whHnih C Fenr Cuw pHBlemeowng Geveonoed B mHs60
B) A whpwb C fen_Cu sGfiemeowns Zmsseo
Q)  ouugBw Bmuiwri |
D) Cumhblensnen sigiayb Bjev6v.
The assumption of transitivity says that if a consumer is indifferent between A
and B and also between B and C, it is assumed that he is
A) not indifferent between A and C
\B’f\ indifferent between A and C
Q) remains as such-
D) none of the above.
st wHpih Comausensarsan LHOIBG MMBSEHESISMDL &b by
Simolys semn whnn  aefls  Hpausrusersden, G sy ulled
apu@h PeLwyme; @BivLg
A)  epriul L QUn@BETTESTT ieeoLLy
B)  ashArl Cungennsiy gismioliy
C) (poeonaflggass ClunmeaTsar Sjemoliy
D) Cuohenlw sigiab Seoanso,
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The interaction of households and business firms in the market for goods and

services and in the markets for economic resources represent
| A) closed econormic system
\B{\ free enterprise economic system

Q) capitalistic economic system

D) none of the above.

10. wasafler mstey RUEEGWONES @65 Mo 2 husSulsr @@f&l@(y)mm
Bmés Coustm@Bb. Heng iempsHEbd b
A} Qummenngtrs Smemio
B) e phusHs QFwsrdmedn
C) uwmd Gu Qunmerrgir Slpenwo
D) Cupafiu stmian Serens,
Pattern of production shouid correspond to the desired pattern of consumption
of the people. This is called -
A) Economic efficiency
B)  Productive capacity
W{\ Allocative economic efficiency
D)  none of the above. ‘
11. Quu@emgny snotsSub asug Seer UTL & s G
A} Qgrstiemiol) QUr@GHETNSITD |
B) mmm@u QummsTrEAgn
C) meou G\un@mng,mrés Camun(®
D) GCuhHampdhu agieyd @mmm
The éuestion of economic efficiency is the subject matter of

A) classical economics

B) historical economics

\9{\ theoretical welfare economics

D) none of the above,




12.

13.

14,
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siflawra Coblsas Ceausniv asp wassflenr ey apuBsmeag Czsdw
euprensdled afipsdl whmib SuisErmLL HsIe) Peenu L& GmDeurs
Brmser. B GOHoug eadenbleustimred Sjsuiiseh  (psbrL @@r_r,g,mgsﬂl_
Curswra e etenniset sTeLSNELWD. @gj SimP&sLiLBeusg]

A)  dluén (presore_eny B) Qeulievsin ellemeney
C) A&ean (preime_eny D} Gupemfu agebd 6060,
The decision of people to save more causes fall in National Income. Consumption

of the people is less than before which implies they will become worse off than
before. This is called as |

A} . Giffen Paradox B) Veblen Effect
Paradox of Thrift D}  None of these.

@i SEIDNEb a@g&Q&udrm&mqmgj aiCurg  ceipred  gyFeflel

(PHENISEV &6

A) 2_cinenivagsL_sir Fyrs o everGLing)

B)  eidliuniiysgpis fros e stenGung)
C) e.suemws@psr frma PeeongGung
D} Cuhemplu aigiaybd Heoenev.
The Hypothesis is valid if its prediétions aré
consistent with facts
B} consistent with expectations
C) inconsistent with facts
Dj none of the above.
@@ wifullso e sren wHiLsm S e_dter WHD WIDSSW Sryewfiaared
fliemulidasiu_slleremer arslimred Jigh JMPS&SULEIL auTFbd
A) o enCer o siten IMEFaW snrenflset
B} GeuafliGuw 2 snen wrphsnigw srresilse
C) o.enCen whmb QeuaflGu 2 cer wIDEHnW Sryenilss
D) GuhsmpPu ageubd Seoemer,
The values {vhich are not determined by eitherﬁariables within the model are

known as \

A) Endogénous variables

\J)\ Exogenous variables

C) both Endogenous and Exogenous variables

) none of the above.
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15. s @piFl Beweows vwsiun @ eflflug Gereumb swsun_Gaeflls gCseyb

16.

17.

genplshiig mrailaunt suBlensouilsd Gl

N MU MUy m TUx_TUy
Px Py Px Py
C) MU = Price 7 D) QGuhaafiu sigayd Beremeo.

Under law of equimarginal utility the consumer will be in equilibrium when one

of the fo]léwing equations holds good

%) Wx = MU!! ~ MUm B) '{"Ux = TUy
Px Py Px Py
Q) MU = Price D)  None of the above.

L Clgol. BenCleusfl @luug

A)  msiGanflen edemeolée aimiiy

‘B)  meiGeunflen mGHOsrG&@b auremb

C) meiCeunflstr QanBeasriut L eumiiny
D) Qeva agaubd Psoemen.

Budget space' reiaresents

A) 6pportunity cost of the consumez-'

B) compensatory income of the consumer

\5&[}\ opportunity set for the consumer

‘D) none of the above.

@ GHwusdel eumorand flswngblurg o ey Cursip Sisdlwreudlu
Curmlsaflst Cue GFeellLu@blenn eumwnasdlsn  oemey GewmES
Sp-bur QurgpLgeflér Cuwed GleealL_tiuBdlenn oemey flaswrdng. Bai
SippdEh elgn | '

A} msiGsuni aigeh

B) s @ndlflene vwsTtumn @ s

C)  agpaeden maiey elif

D} Gupsnfiu srguabd oi6ev.
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As income of a family increases, the proportion of its income spent on

necessaries such as food falls and that spent on luxuries increases. This is

known as
A) Consumer’s surplus
_ B) Law of Equi-marginal utility

\Qf\ Engel’s Law of consumption
D)  none of the above.

18.  eugwnengHled ebr@ib sy mg_i)gitb @wneunsngt FRSLHHD IHDSSTE

MW GFea| Ceupun L e e et ik Gsfwiiu@Geugy

A} Sgelien a&l'msrraq

B} oo &l udlefl @ eNensney

; C) Gleulievst eflemeney
D) Guhsnfiu simegbd Geenev,
When the income is reduced or increased not by compensating variation but by
the cost difference, it is known as
A} Pigovian effect
\Bﬂ Slutsky substitution effect
- C)  Veblen effect
D) none of the ahove.

19. sppiUuy Qurmemigmnb eedtug @ Broafawra  Fpsnusde g
G(meush wHDeauissT 2 Husd Caligeded Fenguen_w ubidlensnl GlLmAmres
ersrueng LuHBI0 LRLUG, WHMIL UL GH FYanusse Qurss e bhuss
wiydpg wHnb SivreflssuuGng sistiuamsl upBiyb

i A) Ggmsaed eSlewrh B) Glapeng sivibflg
C) A.C. Pigou . D)  unmed A. snpGaicoze.
According to .......cocvieniiiinn, “Economics is the study of how in a civilized society

one cobtains the share of what other people have produced and of how the total

product of society changes and is determined.

. A)  Jacob Viner \?() Henry Smith
C) A.C. Pigou Paul A. Samuelson.
[602] [ Turn over
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20.

21.

22,

msia) a5ss Camn_umn_emL (WPennwns Sprmbagh@ Bwss o Comauslan®
Bgei gLiuen_uildd CoemeuLpEma.
A) 2_6UTEMLD 6U(HLONEBILD B) LIGWUT GLH(HLOMEBTLD
C)  on(Ds6L augphramD D) CGupammlw agand Qevensv,
For the proper analysis of consumer’s surplus, we need a demand curve that is
based on
\5{\ the real income B) the money income
C) incremental income D)  none of these.
s
§

e b | e T
Leisure Work

CuGe0 2 evem sumwnen Gula), sem cumruL GHe gned digwreang BohEes
| Fb

A G Bl ow
C) 9&“% D} CGuhesw sgiab Seoeme.

Money Income
£ .
n

x

————— =Ll t—r T
Leisure | Work

In the above Income - Leisure constrain diagram, wage rate will be equatl to

oM . oT
\/()\ or , B) on

C) 901-:-11- D}  None of the above.

Cang L @_seng Elriys : ‘

Aoo HITUAGENET ....o..vecerrerrenen, seremw wrmdarn 2 HusH srrenfl eveniels
2_pusdleow efluugnE Hleneduiled anyemmons o Teng) ..................

A) ugssleorenio, (P B) UBS@SID, Brsmd

C) dlem_ssnemo, PibSNb D) B ageyn Reoemev.

[602]
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The ..o, of some factors causes increasing returns to a variable
factor in stage ............. .
\,yf\ indivisibility, first B}  divisibility, fourth
C) non availability, fith D) none of these.
Camql L i_geng Hlyviys: .
2 HusSuiied Blemeowner euHd eNEHETENRU ..ocveevveeeieeies ceeeineeeens 2 Husd
ity steivmy Hem1p&fleTCmmib. :
4) Gndusre, unLgSSTe B) CriGsr_pn, uéuuu}g,gnm
C) CriCGar @, 58 D) @46 ﬁg,jcqm Bevemev.
Fill in the blanks :
In production, the constant returns to =cale is called ...........cooieiis cviiviinniennnnns

production function.
A) short run heterogeneous B}  non linear heterogeneous
linear homogeneous D} none of these.

synefl Glasellign whnib BnHilme GraafinhEh e_sen 2 neay

eungaip 1 : . epefl  Geeemeusii_ @ndlflewens Gsewe  siflsors
Bmsewlung, srnef Geey gflaflsen

arsgsb 2 :  syrefl  Cowmeaeile.  @ndiflmns Gseey Goopeurns
Bméeewlung, srmsfl Qseea; Gsnnuyib.

Bemper : |

A)  eunssrusen 1 whHpnd 2 sfwrensne

B) euns&m&sT 1 toHIID 2 Seumneuenau

C) eunssib 1 &l genre) sunFsb 2 Feumy)

D) eungsib 1 Heum 60 eunssih 2 &ifl.

The relationship between average cost and marginal cost

Statement-1 : When marginal cost is above average cost, the average cost
rises

Statement-2 : When marginal cost is below the average cost, average cost
falls.

Of these

Statements 1 and 2 are true

B} Statements 1 and 2 are false

C) Statement 1 is true but statement 2 is false

D) Statement 1 is false but statement 2 is true,
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25, uwliwed I @ ulwed I eLer GQuimss, £Cp. GarBésuu_(Gerer
GHIGsmms Canan® sfluren dlenLmug Csib0s@®

L igws) 1 Liciguied 11
) engpCeusdscin a] QO=A"Kp
I}  a&no dsemed b A€
AL
M Bodhmeepupd o 2 |
V]  egrefl e pHusd A d) wmydlsin e pusd efleneney
)
SIS ;
I o m w
\ﬂ](‘ d a b ¢
B) a b c d
C) b c d a
D} ¢ d a b.
Match List I with List I correctly and select your answer using the codes given
below :
List I List II
D) Samuelson : a) Q=AlKB
A
[} - Cobb-Douglas b} Kg
IIl) Marginal Product c} (E
IV)  Average Product d) Law of variable proportions
I b4 m v
Al d a b ¢
B) a b c d
C) b c d a
D) ¢ d a b. 7
26. Quugpenngny eumbligd Cleaeiae eIUG ... 1.Y;,7,5)1T R
' Cleevaasner p_snemgsdwig.
A)  wimdlsnn Czea|, Qwrss flameawns Csoa ’

B) Qeusflouen, e sramihg
C) s&ynefl Qeevey, BrFHfloncé Qe
D) @4 ameybd Birenso.
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28.

29.

13 ' PGEC

The Economic opportunity costs include both ............... and .......oeeenes. costs
A) TVC,TFC explicit, implicit
C} AC,MC D)  none of these.

B eor_Bemes poHnfenwo asrug

A om Quimensstenm  dpumenunenit  @Cr @m  eunniECauneny
aflirGlameeug)

B) @ GlUnmEnsE Pran® sShueneanwuneriger
C  om Qurmerse ran® eunme@Canri
D} @dle sigayb Gevensv, '
Bilateral monopoly is said to exist when
a single seller of a product faces a single buyer
B)  two sellers for a product
C) two buyers for a product

D}  none of these.

wrpidlenm eflfgrenr clemamaielling ..., WDHMID ..ovrrevrrranns Eleneoseir
Asaanopp BLsens 2husd enmle smsuLORDS.

A 1,3 B) 2,4

C) 5,6 D) @4 agan Rerane.

Under the law of variable proportions, stages ................. and ...

\:ﬁesent non economic region in production function.

1,3 Bl 2,4

C) 5,6 D)  none of these.

Spssan_ eunsdlwnisnens sauaflés |

amppl : Beopeyn CuriigsE vl GiGw Hefliiny aumaCGar® Can_ur®
’ GlunmSSwmGHD.

sgapp 2 sefloy euenenGanr®, woHmflenw, pergnflenw Gumily, Heoir

phnflenwaeméEl GlUNmBSIS.
Bleupgyer :
“A) sapmisen 1 wpHmpe 2 o
B]  sappiser 1 whmnb 2 seup
C)  sapmi 1 oM gyenmed 2 o
D) sabmy 1 peumy spemned 2 &

5@.2 [ Turn over
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30.

14
Consider the following statements ;
Statement 1 :  Supply curve concept is relevant only in case of perfect
competition
Statement 2 .  Supply curve is inapplicable to monopoly, monopolistic

competition and oligopoly.

Of these

|

Statements 1 and 2 are true

B) Statements 1 and 2 are false

é) Statement 1 is true, but Statement 2 is false

D)  Statement 1 is false, but Statement 2 is true. _
eunesth 1 : 2 pHusd stinfenen Nerau@orn sUpSORD

g=f{(ab,cd)

aunssd 2 :  Cwle sapun @eem smiy g @b a b ¢ d Hdw

o_stall g st genellh@d @i 2 pa BuUugsies smndsing,.

Beuppyet :

A)  surssmuset 1 whmb 2 &M

B) eunssmsedr 1 bHmb 2 seumy

C) eunesb 1 #f gyenmed cunssbd 2 gaum

D) eunssb 1 geum sennd aunFsib 2 shl. '

Consider the foliowing statements :

Statement 1 : The production fuction can be writtenasg=f (a, b, ¢, d)

Statement 2 : The above function shows that there exists some relationéhip

between q and the quantities of inputs a, b, ¢, d.

Of these

|

B}
Q)

D)

Statements 1 and 2 are true
Statements 1 and 2 are false
Statement 1 is true, but Statement 2 is false

Statement 1 is false, but Statement 2 is true.
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32.

33.
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CES 2 husgl srifenen 2 meurdweuir

A 2Crm, Qeenfl, Blenaneiv Lﬁ;_i)gﬂb GeronGeon

B) gL ib cuiblg

C) - omiaged

D)  &ebeto.

CES production function was developed by
Arrow, Chenery, Minhas and Solow

B} Adamsmith

C) Marshall

Dj . Keynes.

angﬁls\ﬂm: feope)uCuriy  Bineuamisdar  miusnHeE

Beonusemss ....coovvveneeennns Bleonub aiehiy HemwaHleTCmein
A Puey

B gufig

C) dlés Queday
D) e agiann B,

PGEC

Curgones

....................... profits are just sufficient to induce perfectly competitive firms to

stay in the industry. ,
\_Ay(\ Normal B) Abnormal

Q Super normal D}  None of these.

gnu Gumn_iguled sthg uicdoy Bevene ?

Al gpapsmwwnen i DGluwiey wHmIb ey

B) SHuner eunmigCauniiaEniy whmb e9hHuenemunemisgsid

C} seLwhHn pevwey wHnb el Gubhmob

D} seupnen il L enwinisieno.

Which of the following features are absent in pure competition ?

Perfect mobility and knowledge
B) Large number of buyers and sellers
C) Freéentry and exit

D)  Absence of collusion.

602
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34. Jdemumb euengur sHembg sflwner efenLemws Caiey Qo -
MC

35.

AC

Glesva) HMI eugmeumi
|

AR - MR

—t

>

N e pupd
Bempeys Gum_gulsir BnyeusgSen Botoranevs soflene
wponiflenn’s Cumnigulen Bneuengdler Beim_sneé swleneo
whHnfenwulis ﬁs&m;a&ﬁmé swfleney

@dle srgab Bevemso.

From the following diagram, choose the correct answer :

MC
AC

Cost & Revenue

AR - MR

>

&

N Outpur
Long run equilibrium of the firm under pérfect competition
Long run equilibrium of the firm under monopolistic competition -
Long run equilibrium of the firm under monopoly
None of these.

GClunmepssren  Camauslan_enL mnj);ﬁlwmmﬁug,gba,nm Glaevasen

.................. s eusnywenm GEnwuuGEDS).

slhuenens Glaeoager B) e hugdls Qaeeyse
shengwliiQenssd Clasayaen D) @Hed agianbd Seoenev.
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........................ are defined as costs incurred to alter the position of demand

curve for a product
\ﬁ(ﬂ Selling costs B}  Production costs
C) Marketing costs D}  none of these.
36. b sumeusmeuhiled sim e1g Beopayn Cumiigulss Buwisdy Heoened 7
) oiflewner auni@Ceungh whmih ofiihLieneswneTis gD
B} perpenp sflener upBiu app Sifley
C) Gunmen Gmgu@ﬁgé‘o
D} £de sigiayb Bsvenso.
Which one of the following is not a feature of perfect competition ?
A A large number of buyers and sellers
B)  Perfect information about the prevailing price
\(Z() Product differentiation
D) None of the above.
37. whpfiemvdio, doeosgd Bpdfimes CQsoalbEge e dem Caupunl
............................ el (DA smgs
A) @eonunb - B)] aSewmeors Cugib
C) (yomfemws s&,ﬂuﬂa&r lgsatmm D} Bdle aggiblctensd.
Under Monopoly the difference between marginal cost and price measures

.........................

A)  profit ' { B) price discrimination
\9{) degree of monopoly power D) none of these.

-----------------------

a) wpHmflemw, flenpayts Gual g
B) @g‘;@ﬂmm. (poHpufemwi CGur g
C)  pomflewd Gunliy, feoi gphHpiflens
D) @4 agmeayw P, .'
[ Turn over
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A) Monopoly, Perfect competition
B) Monopely, Monopolistic competition
\Q{\ Menopolistic competition, Oligopoly
) D)  None of these.
39. apeugsmb wHMID 2 snwlilel s Gamphs GiFaad seamatenl Sre
Y

>

T

ApaIgaih
e

— X

L
A) S _ Bl E
C) T D) @de srgiab Bevenev.
Findout the least-cost combination of labour and capital :
Y
A) S E
g T | D) none of these.

40. engfmwagn Bempait Cumigs@h 2 der Geunur@®
A} eflemeo Bliemtuidsed
B) e pmusHs Claesy
C)  sueniuaemnenys LwsiTL{(DE&ISHN
D) Guler samiul i HemeTSHgIb.
The difference between Monopoly and Perfect competition
A) price determination B)  cost of production
C) utilisation. of resources \D{} all of the above.

[602]
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et omiflenwuiles HupovpnHn Csmauslanp

d
P K
%
D
[¢) M
Sioay

pLly eflemeouiies ComauaGan ned Hmuub (Qprsng) eHULgHenes

STevTLD :

A)  mLOy dHemesmCud 2 e Comeuslan® Maapd CQpdpsdwrseb
3180 &P 2 eeng) Crpdpsfwuhnsreayb o srsng

B) CGue® ued Opdpsduppsreayn £pu ues QpdpsPuydmgrseb
2_6N6ng;)

C) Gream® ugdsaflann Qpdpsdupmars o eneren

D) 4 ageyn Geosmev.’

Kinked demand curve under oligopoly

o
p K
B
.'.E D
© M Quantity

The kink is formed at the Prevailing price level because

| \m the segment of the demand curve above the prevailing price level is highly

elastic and lower segment is inelastic
B) upper segment inelastic and lower segment elastic
C)  both segments are inelastic
D)  none of the above. .
Fups 2 5510 shEeng o LGS el
A)  J.R. affi&eiv B) A.C dis
C)  wrégs D)  QurlGun.
The concept of social optimum was used by
Aj) J.R. Hicks B) A.C. Pigou

C) Malthus \yﬂ Pareto.
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43.

a4,

&1p sugpeusTeuhHIIeT 618 Feps HOv&Car LN e (PSHW HbFLIED ?

A euaumss e guld Csugen '

B) Qedyen upBlusmesmad semsHRiga

C) ellemens Gariun g faanvwndE 2 sdemw 2 LGWrdsseMD
D) QGued sgamlw wrayb.

Which of the following is the main property of social welfare function ?

A} It involves interpersonal comparisons

B}  The ethical notions are cardinal

- C)  The maximisation techniques of price theory can be applied

\d}\ All the above.

e_eiofp - Qeuafl3® i Leuemenr Bsen SgliuenL Wleoneng)

A) el L &Csi(® ewriiiud B} evGaemmi suntUuL b

C) Qamflsopmmp aumiiuLtb D) sefQurenprsn suriuL_Lb.
The input - cutput table is based upon a
A) Diagonal matrix B) Scalar matrix

Transaction matrix ' D)  Unitary matrix.

45. ¢ earall - QevafllG Spieypenp eesugstr apeod Goemear DEILMSHID

46.

Siflwpydng

A)  getenp genyy enibg DGSSO

B)  upsuupons speitenn penmiL s smihEl 55560

C)  enipdlpseed

D) esafn wrHoid. 7

Input — Qutput analysis is concerned with an empirical study of

A) Interdependence

\,B‘\ Mutual interdependence

C) Dependence

D)  Transfer of inputs.

Quugu;beo Gan_unr® seg@ib SHESMS P (PSULGSSweal
A QupGinr B) adisev

0 dg ' D) A Quidksen.

'
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43.
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The concept of social welfare function was introduced by

Hicks

A) Pareto B)

C) Pigou ' \Dﬂ A. Bergson.
w=f[U, Uy, Us....... U] stetimmed

A)  urewsh 2 S5 Hleney

B) st - afsen #f® Clew ggsiaun

C) Quidsgen - smbujeucdss QLTS KN cNenear Clauwied
D) Y@l peelnen Qauwc.

The expression w = f{U,, Uy, Uz ......... U, is

A) Paretian optimum

B) Kaldor — Hicks cor_nj:ehsation principle

Nl

D)

Bergson — Samuelson social welfare function

Pigouviam welfare function.

Curndflwir kg sistien Glgnshanni arebmTED o

A)
B)

C}
D)

Cungy meod etehiLig QUImBETISTT BEOSHH @(H SMSNGD, @l,g;at;)m
Qesosug e papsoib gjemellt_eomb '

Qun@srmgﬁu EeVLD sTebug Glungy meaosdlen @@ JBISLNGW, HFHEweu
eSS epevtd SyemedlLeomd

spgrugdlen peoss (wpBlenphen QurmettgrrsSlen papeowd dilmL_és@Lb

IB6VEH eTetTLIG) Waseaflsl wenBleneoenws snihsg!.

Pigou has said that

A)

o

C)
D)

Social welfare is part of economic welfare which can be measured in terms

of wealth

Economic welfare is part of social welfare which can be measured in terms
of money

Welfare in a society prevails with an ideal economy

Welfare is ahout the state of mind of people.
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49. Qumwsdullesr  wdoy ... DHDID e S s8emL_Gw
L Y GRICT |
A) +1, -1 _ B) 0,1
) 0,a D) 1,

The value of multiplier is
A) between +1 and -1 B} betweenOand 1
C) between 0 and « ) | between 1 and a.
50. Cpemeuulehr swlEré@ aumman®d g beuneng Qeumih “Ugit L pulleéd o érer
usmpw Slgr’ ene srrnwn” - Beng Sanfwig wrr ?
A)  JR afss B) AC. S
C} D.H. gruil_s6n D)  Qeamiireoir.
Indifference curve analysis of demand is merely “the old wine in a new bottle” ~
who said this ? '
A}  J.R. Hicks B) A.C. Pigon
\‘ﬁ)/) D.H. Robertson - D) Heberler.
51. eflenev Cuagdlsn ppeiny auenasmes S el
A)  gyub sioblg -B) wrfapsd
Q) &ewneiv D) @.8.9. |

The three types of price discrimination was given by

A) Adam Smith B) Marshall
C) Keynes 7 \IJ() A.C. Pigou.
52. Aensupeusmeupmisn 618 weaflzOasiann eveong Geoemen ?
A)  aLér ugSlyrser B) um@ser |
C) Heo oL enwaen | D) eemply euheund, ,

Which of the following is not a non-human wealth ?
A}  Debentures ' B) Shares
C) Real state \}{ﬂ Labour income.

[602]




53.

54..

23 PGEC
&Gy v een suempuL SSl6d D, @BuLg)
y

Price
P,
P,
D,
X
0 Qty. of x / time
Al gLbomd Qun@m&.aﬂm Caemeu
B}  sngmrem Quumensafien ComausGan®
C)  dlush uem_ruseflshr CameusGan(
D) GCuhsaplw ageybeanen. ’
Dx in the below diagram shows
Y
Price
P
B, |
D,
X
o Quy. of x / time
A) demand for luxuries B) demand curve for normal goods
demand curve for a giffen good D) none of the above.

wohmfleows Cumiig Sipeusrtsaflen eSlmeowsieng Gurligssrer @r;sm@
p&Elw SEmHeBlEET ................. 1.71,7,1V: SRR .

A) s, pemwdliy

B} fesus dlafliCurssé Comean, adiihuemend@ i &;bmgu.: Caeneu

C) Qua@er Ceumum(, sfembLirib

D] @4l sigieyb Ssoemen. ‘

...................... and ...................... are two important instruments of non-ptice
competition by monopolistic firms.

A} Quality, Good will

B) Free door delivery, after sales service

\;Z(\ Product variation, advertising

D)  None of the above.
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55. wonflemwwrsteny adiCnrsa@n Caameauslan®
Al  GClamflgsanen Comeus Canliqmh@E s_pgg,ﬁ& Bums@b
B) egnefl eumeunis Canmid &b
C) Pndflenes sugheuniis Canemefli_ Glogeuns Sip BorEd
D) Cuwle splulL senenggib. '

Demand curve facing a monopolist is

A) identical to the demand curve for the industry
B}  also the average revenue curve
C) falls more slowly than the marginaikrevenue curve

\.{)\ all the above,

56. dendlen snpmiiig auGunupgiw Gebliy WwsefligneE ... O

Bomaew

A}  Gsopeuns _ B) é{ﬁ&ﬁmﬁ

C) swlons D) Bl sigiayb Pevene.
According to Kenyes, saving is always ................. investment

A) lesser than B) greater than

\9{\ equal to D} none of these.

57. Qeusflou@ssnbd slimuus smalanaflsn Lig
A)  Gaibg a@Ss0 Wenalplusms Casfluu@ssdips
B) Csihg s@S$s60 (péi slBUUSms wennsdng)
C) st fuund Camnbg stHSsmen Qmmﬂﬂu@ﬁgjﬂm@
D) GuhHsadiu srg:ﬁqu‘a Bsvemev. | .
According 1o revealed preference hypothesis

\}m choice reveals preference

B) choice conceals preference
C) preference reveals choice
D) none of the above.
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58. MRTS of L for K g5 1fsin sugpeussieuppleSmihgi snetor :

59.

anrewils Clsn@uy L_6DLPLIL] (60 (ST APEOZHET B 60(SHSH6N |
' ' L) (K)
A 1 12
-
‘B 2 8
] >
D I 3 |
A}  4,3,2 B 23,4
C) 3,4,2 D) Bl sigiejn Bevemev.
Find out MRTS of L for K :
N Factor combination Units of (L) labour Unit of capital (K}
A 1 12
N B 2 8
C 3 5
- D 4 3 |
m 4,3,2 By 2,34
Q) 3,4,2 D} none of these.

@m BisiCouni gm Crrsdler B 4@ udleons A emws Caiey Cleugned wHGIDNM
GCrrsdled A &5 udleons B emw Caiey GlFdigned

a) et wrewrun®@ Reveong Blemsolley BL_hg) Ganendlmmi

B}  eul (prefoun_ns skg Gsnsndpni

C) (prawun@® whHpb Wramur® Peevng Hlemsvaen

D) CuhsmHw agen Soeme.

If a consumer chooses A rather than B in one instance, and chooses B rather

than A in another instance

A) He is said to behave consistently

A\

He is said to be have inconsistently

C) Neither consistent nor inconsistent

D}  none of the above.

602
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60.

61,

62.

Sidlwuneliev CoAw aumeunsmws saMEHL ................... BODID .eveereeenreneen.
suflpenmsafishn seareumult LwearuB S5HDS

A)  Oeevey, sufl o

B)  usmrsfwed, BlHuSlwed

C)  (Qunmer) e pHusd, eumeund

D) @& sigieyd Geveme.

The National Income estimation in India makes use of the combination of
................... and ................ approaches.

A) Expenditure, Tax

B)  Monetary, Fiscal

\jZ{\ Product, Income

D} none of these.

Senerdlelt  Geueneo urnblys  Cam_umigesl  DIGLULIEOL.  .ocoreerennenns

QanerenswnEibd.

A)  mskey Gxeneu B)' el enenayenen G,ssﬁm y

C)  wasefl® Cxeneu D) £4deé agiajn Geemso.

The basis of Keynesian Tueery of employment is the principle of

A)  consumption demand \B(’ effective demand

C) investment demand D}  none of these.

.................... 6t1 snHOILILIG Uswr REHLY eneaillsi Crrsan CurBErsswngb

A) el Neash B) W.J. urGureéd

C) gonen Guuisni® Hewrein D} @48 ageyb Gevemev.

According to .......cocvveneieen. transaction is the motive fo; hﬁlding cash balances.
\_A(] Irwing Fisher B} W.J. Baumol

C)  John Maynard Keynes D) none of theée.
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63. demeller  sapmin  aeflem ' Gumsd elenemeysien  Czemeusmw
SiflsfNiugen Crramib ' .
A)  Ceouemeveumisionis parsi@elds
B} uswieisagsanss @GmnHs
C) Gunmemign auemidfemw Hensotiu®Ss
D) B4l amien Seveneo.
According to Keynes, effective demand should be increased by increasing
investment in order to - |

‘ \E{(" promote employment B)  reduce inflation

C) sustain economic grovgth ) none of these.

64. Flemeowinew eu(heumil misieys Cam_un e yefiggeu

A)  Gu.end. Sebrev B) - wupsetruf
C) & wgdeSlwnefl D} Bevdnr BenrHCuweir.
Permanent income theory of consumption was put forward by
A) J.M. Keynes B) Duesenberry
C)  A. Modigliani \wﬂ Milton Friedman.
65. Bmffiener Crlliliy emuusdpanen &S

C ' AC

— . B ot
A Y ) AY

AC ‘ ‘ . .

c 1- Ty D) @eunmiet sigia)lisoansy.
The formula for Marginal propensity to save is

C AC

B - -
A Y : ) AY

\g{\ 1- AC . D)  none of these.
AY

66. ‘BetorL sneugEleo ,ff,rré'lmd)mmb BniaeHGeunb’
WNetreugpLieufler wrir sunigengaer Peney ?
A)  Cgo.emib. Seireiv B) ereiv. m. Gamfev
<) au.en Gapws D) Gegretr @umSlenasir.
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67.

68.

69,

“In the long run, we are all dead” are the words of
\A(\ J.M. Keynes . B) S.E. Harris
F.A. Hayek D)  Joan Robinson.
Quu_r,és&]ui\drr Sieney  Glsit  eummeusteuppuet  aspHmiLen  Crhoenps
QgL smLwg,
A) Bmdflene mssiey eflgpiiub
B @uifiBeme 156 @ Smer
C)  wegesdlen @niflflene Ametn
D) @dle aigiayb Bevenev.
The size of the multiplier is positively related to the
\Kﬂ marginal propensity to consume
B) marginal efficiency of capital
Q) marginal productivity of capital

D)  none of these,

Qung Gamumiiged &emed e smSgKHmaus Coisasd
Seuplefli_Lmi
A wOsa B Qumpsd
Q) CGsfluy ' D) (psedi.
Keynes has omitted the concept of ....... N in the general theory.
\/jj accelerator B)  multiplier
C}  saving ' D)  investment.
0, % OHMID % Bpdfieme miu wuysegpsaten Cumsulisn wismen
SIEUTE
A 2,41 ' B 41,2
C 1,24 @m;‘pmjsﬁ agieyb Berened.

Find the rnult1pher values for the mdrgmal propens:ty to consume values
of 0, = & -

CAY 2,4,1 B) 4,1,2

\ﬂ,{] 1,2,4 D) none of these.

.
PN S —
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Sl SmppIiLg  BISHENSHT  HEEY  .oeee..n, o enihgeieang IHMIb
(PSS 1651 BIETTEY ..o DHMD coveeeerrenen. m FNihGITeIg). |
A)  maiey AL, Al 98, SmHBme ppegen SL68S Smed

B  (wpseSH, GEL&D_L{, PPEIGET 1 Ee&ID

C) eumeumd, Qurg WsefEH, seflwnit pgeSEH

D) Seuhmet aigieyd Geoamen

According to Keynes, the volume of coz;sumption depends on ...........c........ and

the volume of investment depends on ......oocooeeivnens and ......oocceennnys .

\Hf\ propensity to consurne, rate of interest, marginal efficiency of capital

B) Investment saving, capital formation
C}) Income, public investment, private investment
D)  none of these.

Bnidlflemeo msia) elgprub wHmd oSy G&lﬂuq efl(mLILID
Sfwapdlen s B Cgrens suGLTipgID

A)  qeimsE; Fwwns BHSG L

B] osims@ Guweons @mseb
C) @dD&EG GmPuUTE GEHHGL
D) @bl sigiayb Bevems.

The sum of marginal propensity to consume and marginal propensity to save is

.

always
\A{\ equal to one B) greater than one
C) less than one _ D}  none of these.

S B L ugeunt whnb ClFevan swwrs FonsEw Hereoullsd ...
1.1,,715 T[T ST Fweupdlsi Qan@rienu IS ecimeteueny smElsnng.

A) sugpeumi, Gl

B) eulig efigrusen, a_,rbug’.;f{l OL_L_t&ei

C)  @psef®, Cobluy

D} eu@eumil, pIsiey.
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73.

74.

The IS curve shows combination of

................... and .................. such that

planned expenditure equals income

A) income, saving _ : \E{\ interest rates, levels of output

C) investment, saving ‘ D) income, consumption.

Glummer sheng au@GBeunl wl L gSneE CeBluy ..o, (gmiy) Qamiy
Qsnevorg wHpib WseSH sul iy I558lh@ (s1iy) Qs iy Csner_g

A)  Grmg, Gonbg Olaed B) (y)m,g).(yws, susnibgl Clasv

C) smeodlp, cusnihgiblaed D) @4 ageybérensy.

In the product market, saving is a ...........c....... function of the level of income
and invesmentis a .......cccovvvvecrnnnnnne function of interest rate. 7
j\')/ direct, decreasing B) indirect, increasing -

C) inverse, increasing D)  none of these.

Bremw eflpunsSed apuBD wihpriissr Wdremeamaubed, ade wiHpsams
ahusgib ?

A) LM cusmern susniy

B) IS quemen cusmiy

Q) IS whmith LM mdlw @ranBieuens

D) Bl seigieyb Hedenev.

Changes in liquidity preference will bring about changes in :

A~ LM curve B) IS curve

C) both IS and LM curve D) none of these,

Spsacn spnsmers seuef :

Spbm 1 :  w.ere.g.  Briiged eumeumdled SlsuCluflw  siemey  gmpw
BmhasCurflend #mefl mste) A@muub um ETH SIS
Bemeownangrs Bmbgieteng sien saev GbL s sawL OB,

gam 2 :  Seciublplelishn s e Sanflen smEgiSE aSliwenpwnsg

Baungyer : '

4)  smpmiset 1 wHmb 2 &fl

B) enppy 1 &l semed snphn 2 gy

C) &anhm 1 Seum LM Fnph 2 Fi

D)  sapmuser 1 whpih 2 Seugy.




76.

77.
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Consider the following statements :

Statement 1 :  Kuznets found that'in USA, the average propensity to
consume remained constant over a long period despite
substantial increase in income

Statement 2 Kuznets is contrary to Keynes’s proposttion.

/Arl/' Statements 1 and 2 are true

B) Statements 1 is true, but Statement 2 is false

C) Statements 1 is false, But Statement 2 is true

D) Statements 1 and 2 are false.

Aeteugpp Camun@asfles a1 @evGsLefler uHarrs Sigs mausss ?

A) ampeamas G HHGIGHTN |

B) e eugheumiss Cam_un@

C)  emiy eumeumid Gaml ol

D) Bde agieyb Peoene.

Which of the following theory resolved Kuznet’s puzzle ?
/ Life cycle hypothesis

B) absolute income theory

C) relative income.theory

D}  none of these.

Lol Qupsefl  Camun@® Neeugpd  (pramun_en,.  odass o gal

Qlewidlstim g
A) dHésenw B) uppr&@Gemo
C) b D) &L,

The mﬁltiplier theory of Keynes helps to explain the paradox of

.M/‘ Thrift B)  Scarcity
C) Plenty D) Debt.
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78.

79.

80.

gofl puisaflsn umeumis G BCUIS Seuisard msiys Ceve SHE
Benemunss @enpwngl. B BLsemgenwys Slsreumonmy oenwpsECmnb
A)  picsl eSenenéy "B Y slensmay
C). e smenwulmiy eleneney D) eaymeumis ellemeray,
When income of individuéls falls, their consumption e;&cpenditure does not fall
much. This phenomenon is called :
/Qr)/ ‘Ratchet effect B)  Pigou effect
Q) Real balance effect D} Income effect.
IS - LM wrdlflfer Celluy elmuusdes anu@b smpbs Heneo ................

CDHMID ervereeeeenenn SpAwaupiled iFlafuy apubdssib.

A)  euLlg efgb, eugheumis L b

B) Gsdlw eumeuril, pseS @ wl_Lib
C) ueselSad, Letr ety

D) PQdle agieyb Heremev.

In IS - LM model, a fall in the desire to save leads to increase in ...................

and ... .

}rfl rate of interest, level of income
B) national income, investment level
Q) inflation, money supply
D}  none of these.
MN&aniC_relel sapmitiLig Bleomud ssirug
A smeSlyewr CErgS QsriyenL g
B}  aneSluysi geneodips Glemijemwgl
C)  smeduyLsn Cgm_uhHms) ‘
D) afluyen sansodp Clamn iy _wg).
According to Ricardo, profit is
A) directly related to wage

B inversely related to wége
C) not related to wage

D]  inversely related to supply.

602



81.

82.

83.

84.

33 PGEC
Sp1b svblgBleln sapmiivig @ BN gl Qesaumiseflsn Ggyﬁjb;_l}l.b STGHTLIg
A)  grsb whmib Cleustefluflsn Bmiy whHiyn HevL sabemiguig
B) Qsnfleoreri |
C}  epeugemd
D)  fleob.
According to Adam Smith, the origin of the wealth of a country lies in

A) the availability and stock of gold and silver

/B)/ labour

C) capital
D) land.

Ssnglleh  gmeuneng) Gasmeliu@uey ausnruenp Geudlps e
Snglwieui

A} Gm.9.Gs B) - gL sufls

C) medgsiv - D} MésniGun.

“The division of labour is limited by the extent of the market” according to
A) J.B. Say . " B Adamsmith

C) Malthus D)  Ricardo.

mrdw penp esug Ggmfleoment LGLIL WL BV an@sunmmmmqm
UGSSO QLG sTehny Fnplweui

A)  Qufiwnk B) oiswewrn

C)  wanson snid ,Br’ SbCugsi.

“Caste system is not merely division of labour but also division of labourers” -

according to

A) Periyar : B) Anna

C) Mahatma Gandhi D)  Ambedkar.

s oblussi oai o sbla (PeAwsgusg_en Qgnijenweui
A)  wefls peosit wHOmib weflg e Meww

B) wgé sspdlrn

CG) eumenw iy

D) eu@uy appisnpelienars Gamnsse.
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85.

86.

Dr. Ambedkar attaches more importance to

/A)/ Human well-being and _1:1uman rights

B) Religious freedom
C) Elimination of poverty
D) Reduction of class inequality.

Ggg.19. Cadlishr ymsny dldlanw (WseND B Fanpflweur

A) N&smi@rnr © B)  bmeugsh

C)  Eeheiv, D)  Ggo.er6iv.1blev.

J.B. Say’s law of markets was first cfuted by

A)  Ricardo )af Malthus.

C) Keynes D} J.S. Mill

uligue I g uligwe II zLst Gurmsd. £08p GCar@ssuul et
GEOEGsmens Clansn® sflwren denL_smwg Caikts® :

Lt g ied 1 UL g6 TI
a) gL ibevidg 1. Czéas Cam_un®
b) MasmGr 2. suidsal Gurrrlib
c)  rGe 3. CGeusmeols LU

d)  &rpev w6 4. udliay.
GHIG e : |
a b c d
A 1 3 4 2
B 3 4 1 2
c 4 1 3 2

D} 3 1 2 a4,




87.

88.
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Match List I with List II correctly and select your answer using the codes given

below :
List I : List II

a) Adamsmith 1. Glut theory

b) Ricardo 2. Class struggle

c) Malthus 3. Division of labour

d) Karl Marx 4, Distribution.
Codes :

a b c d
A 1 3 4 2

B 3 4 1 2
C) 4 1 3 2
D) 3 1 2 a
enflusns 2 Husd) srirdlen, WHOEaN. ..o anyevflullstt mi S emes
e HussH edlivenpuwinEgw LHRD apemnd Bleneousled .........ocueee. s iy ewoflull el
BniSbleneo Lmugﬁ,] siSlinnenmuin@b.
A)  Hemsownsn, wrmidlsim B} wmmyflenm, flensownen
C] ey, gpeogend D) @diso siguajb Bevemen.
In the first stage of short term production marginal product of the ..................
factor was negative and in the third stage marginal product of ................ factor
is negative 7 '
,A’]/ fixed, variable B} variable, fixed

C) labour, capital D)  none of these,

seoL_sivdl wriagelisn Caemar eiiflenw anp&CarsagHanen Sieworb
A)  Geiwenpl uSlef @ sfleneney

B] eidliwenpri ufeS G eflemeney

C) Crpivenp eugmone elleneney

D} @emeu wreyib Sevenev.
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89,

90,

Slutsky accepted Marshall’s Law of Demand due to
A) positive substitution effect

/B‘r negative substitution effect

C) positive income effect
D) none of these.
efleney WL L_Lb @mmutb@ung wEsenenLw Bienw Clonggissafls a_.s&urmm
wElliy w@mAeTng). s wEaT psT Cswma fsfiaddment. Bis
BL.LIEML! S{60LHLILIS)
A)  eugpeumi ellemsnay : B) Qs eflemenay
C)  &etreiv efleneney D) Ui elenerey.
A fall in the price level rises the real value of the stock of liquid assets held by
the people and people increase their consumption expenditure. Thisr
phenomenon is called
A) Income effect B) Ratchet effect
Q) Keynes effect JD’)/ Pigou Effect.
R (peremflenwlt Cumiy dlpeens Sawesme soBleaeudle ...
owrugems Fldeamg. eme gt e Heopa Gunigenwell
................... 2_eneng) | |
CA) Bweiy, sdiswons
B) owfls, @eapens |
C} PualnECud, sHnié Gmpans
D) @& siseypd Bevened.
A firm in long-run equilibrium under monopolistic competition makes only
.................. profits, but its price is ..................... than under perfect competition
/9()/ normal, higher : | . B) supe-r normal, lower
C) abnormal, slightly lower D) none of these.

[e02]
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91. &0y Can(ssuulc Biesn euenruL g8l absu ysaflwneng wedleursy whmw

GHODES JjeTe| x wHDIDL Y uTmsTasT Claran smenmws GH&HDa ?
Y

Quantity y

92.

gusdey & (pasefh ooy

A) Oy,

C)  YiYe

A}y yenafl A
C) yenefl D
In the above diagram
and y? |
}
F Ny
frd
g
LL :
&
}
’ A) Point A
C) PointD

—

M )
y g
c
© Quantig X X
B} yenefl B
D} yemefl C.

which point represents smaller and cheaper basket of x

Y
M . D
A
Y B
C
(0] x .N X
Quantity x
B} Point B

,B'f Point C.

Qar@sasuiul L. U-Sledmus PepGoaume  sumiiiy Bemeouded  Celliiy
Beo_Qeusflenws GHIIGeig

Z

L———-—C*J'

| —— G2

c

£

_-—""./
H

92
45°

-

X

L
Cxdlus oumiones

B) OYe
D} RH.

W
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From the given diagram, the saving gap at full employment level is identified as :
4

Consumption & Invesiment
expenditure

National Income

A oY | B) OYs
C) Y: Yr P)/ RH.
93. (engyflenwwrenflesr Fwfleneo ewwubl b
A} eflemer = Gmudflensy sﬁ@mtru'.n
B) dilemer = @nifflenens Clasey
O Spdfme agann - BpdiPmes Qe
D) &rnefl scugpeumi = gpnefs Clamey. ‘
Equilibrium of the monopolist occurs where
A) P=MR B) P=MC
;}’ M= MC : D) AR=AC
94. &0y Osr@ssu@erar weruLsflenug @ uyaeflile oo Caemen
Qpdlipsdullenss a{meﬁh_é:a;;qm GSSTneng

D
P R
4
E -
o @ Quantity D'
oP PD
A) ep= ;—l—)— B) €p = -O;
PR L . @
Cl ep= oa | D) Beamhmen agieyb Geoeneo.



95.

96.

97.
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As per the below diagram, the point elasticity of demand can be measured by the

formula
¥
o
p R
13
£
© © “Quantity D'
opP PD
)fr €p = ER B) €p ‘_a:_,'
C) €p= oQ D} none of the above,

#
dlett sumsuemeupdmiet 61 mstyenitleds wiHosms aHUBSSID LsTTUEYS

suyessfl ?

" A) eflemey L b B)  eu@meumi wi L th
C el afgw D} saps hssivgl.
Which of the following is a subjective factor influencing consumption function ?
A price level B} level of income

- C) rae of interest /Uf social status.

sl deosv 2 pusdl snnfsr pe&du veny, B JDEGE @ﬂbgﬂm
sl (S Qgremns .

A} gem B @

C)  ppsimy D) prens.

The important feature of Cobb-Douglas production function is sum of its
exponents is equal to

M one B) two

C) three D) four.

250 fymb Gareire @ LnsGaEL. anlullsn cllensy . 45 6 Bambg €h. 55 s
2 Wi g6 slemmans @@m msiCarflsy Csuilensug Csmeauwneng 600
un&EClsC ellphe 800 unalsl L ns (250 dSymbd Caravg) e wibsred
anil&El Liorag Coulmeaulcn BIsES Come CBdpsd

A 100 B) 2.5

C 143 D) 0.75.
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98,

99.

If the price of coffee rises from Rs. 45 per pack to Rs. 55 per pack of 250 gms
~and as a result the consumer’s demand for tea increases from 600 packs to 800
packs of 250 gms, then the cross elasticity of demand of tea for coffee is

A)  1.00 B 25
ALl 143 ‘D) 0.75.
uetL sy FBleneouled BHEGL ..o, WOMUD .eeerrvirerrennnnseens
Fwwrs GrsELb. '
) psiey CGabloy Bl el eisb eugpeuml wi L b
C) Ouwrsss Caemey aumeuni D) @4 agiand Gevemen.
The goods market is in equilibrium when ................... is equal to ............ i
A) consumptién, savings B) rate of interest, level of income
,(2)/ aggregate demand, income D}  none of these.
GSnEW srevDd e16TLG HSHETSES L SH ...coeee e hugds snremileow
wl-Gub  wrHD Pugin. emeNd BenL.STSEIH ... 2 HusSé
snpenflaener wnHm Suwigib. ‘
A) wroyflsitm, sreeon B) Heneownen, wrmdem
C)  Hemeownes, st6060n - D) B4l srmaybd Peoenev.
The short run is a period of time in which factor alone can be changed where is
the long ~ run ............... factors can be varied
A" variable, all B} fixed, variable
C) fixed, all D) none of these.

100. Sleflag CeuafllGubmed Neireumhib Gemplsnu ghuBSHID

A} (psefi (s Came
B) (paef (s Csma + msias Comeu
C)  wzfis Caemen + msieys Caeme + sas Coemes

D) weef(ps Gzme + msiays Csemar + orss Csmer + apmivds
Cazemeu. : )

Growding out involves a reduction in

A) Investment demand

. B}  Investment demand + consumption demand 7
- Q) Investment demand + cohsumption demand + government demand

,2!{ Investment demand + consumption , demand +  government |

demand + export demand.
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102,
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Slereumeusmeupmie e1g1 uswigdler sHQlewens fap vewfl ?
A)  ufleuiggenen eeri_sib B}  wdHoSen yanef
C) Geemeu Flemed mevedr D)  sLem qpsom.
Which of the following is the contingent function of money ?
A) Medium of exchange B}  Measure of value
C)  Store of value ,B‘f Credit system.
CQungians uanelss srwsHd sLer  QUDOEUT  ................
QErIRGTEUT ....iveeeree .
A} opsTub Sl o, Beisl-b Henedpri
B}  meisL b emdmnir, gysnwib enL_dpmi
C)  sLemew sl (Wryliunt, Smbud Glupieri
D) @b agieyb Sevemev.
During inflation generally debtors stand to ................ and creditors ................ .
}«)/ gain, lose B} lose, gain
fore close, recover - D)  none of these.
L‘ilcm Larpissul_Detameundled s1gy smww eurkidufien Lemflwngn ?

A} emullenisEms WweSlays GL 6K eGS0

B) Ognflagpsans San_sncd s 6 euprigseo

C) OQungwsssfib Calliy whmib sefienL eméE el 5560
D) Spemuss5HnE surmdwgnsd Clewedtii e,

Which one of the following is the function of central bank ?

A) Cheap credit to its members

B) Long term credit to industries

C) Promote savings and investment in the community

,D)/ Banker to the government.

104. @ mwvw akdl anCung Quirgs shengulld usdrugseamen dlhumen Gewujb

pemmemw Mesupmnd ?

A)  sL6&T (Genpliy Glelw

B} sien gyl Qe

C) welleyu uewTs Qanatensenu SPOUDSS
D) @de sigiajn Gevenev.

When does a Central bank follow the policy of open market selling of securities ?

A contraction of credit

B) expansion of credit

C) to implement cheap money policy
D}  none of these.
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105. uliwed I g ulpwed I 2L Quimsdl, £y Qar@ssLLL Berer
GHlUGsmams Claran® sflwren ella_musg Caibos® : :

106.

ULiquied I

a) UL wIhmIPD
b) 2 Gersl uswTd

c)  OunmsT LT

d) SEOLLIMEATL LI6WaTLD

GBI P sl s

a b c d
A 1 4 3 2
B 2 1 4 3
3 2 1 4
P4 3 2 1

R

Uiiguiev II
@hLIML [BIERTWIth
efléogeir
SHIGLD
@G CLIGEsE wHElDr®m
Qurgpeneny ufleuirdgenen
Clauiged ‘

Match List I with List II correctly and select your answer using the codes given '

below :
List1
a) Barter
b) Metallic Money -
) Commodity money

d) Token Money

Codes :
a b c d
A} i 4 3 2
B 2 1 4 3
C 3 2 1 4
D 4 3 2 1.
v igfled ............. DHMID ..ooalvvenn,

A} sleusmub, Gigmled

C) uewrellued, £ eRTenw -
Patinkin reconciled the ..................
A) agriculture, industry

S_})/ monetary, real

el S

List I1

Rupee coin
Bows
Gold

Exchangé of goods for other
goods,

glennEenaT henwLl U HidgHspen.

B) &L Lenwiiy, Gignled

D) @4dlev agiayb Geoeneo.
and .......cocvennne sectors.

B) infrastructure, industrial

D) none of these.



107. utiqwed I g uliued I een Qurmpsd, #OBp OasrBéscuc_Heren

108.

PGEC

GBuIRsmems Qarsr® sflurer disnLmws Camos®

ULagwed I
a)  levsir NenrHGostr
b)  snpGaiciass
c)  sRLdled guuiies @GP
d) M. prfibosir

&L Bssir

a b c d
A) 4 1 2
B} 2 3 4 1
c 1 2 3 4
(Ef 4 1 2 3

Match List I with List II correctly and select your answer using the codes given

FUb

N

 uguied II
ShiwrHnIC uewrelssn
(peirGeomy. eumidlg S b

aundly geons Fidmssin
wesfl euenib.

List Il

Stagflation

Lead Bank Scheme
Banking sector reforms
Human wealth.

Qgnsemioll GUNmHETIFZIT eucveesiger Lerdeng wNbHlS & HHw g

below : :
List I
a) Milton Friedman
b) Samueison
c) Gadgil Study group
d} M. Narasimhan
Codes
a b c d
A) 3 4 1 2
B) 2 3 4 1
¢ 1 2 3 4
D) 4 1 2
A) selliés (PRLKE @ Fpss Senw
B)
C) 96 pssdon
D) Bemeu sigieyd Geoeney.
Classical economists treated money as
A) a necessary social evil
B}  link between the present and future
LY aveil
D} none of these.

" BLESSID WHD amld STVSme Banans@h setwenl
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109. @bfuneler Qungismeny cwmdaaflsh Gampeunar Qswsdneaysanss phdw

110,

111,

&b

A} Qewsonrg Qensgissaflen ey
B}  seumnar (pegyfennsen

C) seflwun euldlasti_Bmpg Curig
D) (seomeairen Gignfisom L Cubur@.

The most important reason for poor performance of public sector banks in India

,KK The accumulation of non performing assets

B)  Wrong priorities

C) Competition from the private banks

D}  Poor technological upgradation.

Sisbeumid smmised Belliv sreumaE e amL_amwwnen smSs cien Elenensdpml ?
uemellsad  auGuIgID OO @aCaNm BLsHeb @Em  LsTSlweD
Bapsduns Seopb.

A} sryed Nystmemwi B) tNeédistr Ofi_wonesn

C} efleévellwibd LpGen D) Grounl uGgn.

To whom will you attribute the following statement :

“Inflation is always and evr;rywhere a monetary phenomenon ................... "

A)  Karl Brunner _Br” Milton Friedman '

C) William Poole D) Robert Baro.

Lpsacn ansdwnisemesd saueflss :

Sahgy (A): Of_ et ppeugens  Canluniigen  Sluee  SEHGIeUD
usnsEGarlun e GewduBsdwenwy vemellwellen e
wé&flu Bspam@th

angewb (R):  Clesbaud wHMID  eubHIOTEILD a,@g,g.je,ass!ﬂsm P(HidlenenTiiy
uUALPS&SHSHL Cunsens Sinoneeflougled Gam_unligeb

padwuggeud e enenrudlujereng).

&8y AU _ e GHluTiiiged Ffwren sllenLsmws Gg;fr,nj‘,Glg@

A) (A} vppib (R) Brein@ud &M, Gueub (R) eswtug (A BpH@ sflwuner
shlend &

B) (A) vopb (R) @rew(ub &), Gmguu: (R) etemugy (A} e8ig sflwnen
eSlen& 06060

C) (A) &R, syevmed (R) Heumt

D} (A) geum, gyeoned (R) &l
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Consider the following statements :

Assertion {A): Milton Friedman’s application to monetary theory of the basic

principle of capital theory is probably the most important in
monetary theory.

Reason (R : The theoretical significance lies in the conceptual integration of

wealth and income as influences on behaviour,

Now select your answer accerding to the coding scheme given below :

'

B)
C)
D)
L)

Both (A) and (R} are true and (R} is the correct explanation of {A)

. Both (A} and (R} are true, but (R} is not the correct explanation of {A)

{A) is true, but (R) is false
(A) is false, but (R)is true.
GOSN siewsdsd  femeowtb  UemT  aumeunud @@ LSS

SleNssg aan meusgstlanranGeund. @i Hensouiicy 2 sfemio euheumi

A)
B)
C)
D)

Srlgliunresg)

 wrphpifiened

unrgwinsé @smm,r_'r,ggﬂ‘

Gued HHILN_Hieten sasucrsafledmbg assnfluug &ng’,ﬂu.u.ﬂd)mm

Assume that over a given penod of time, pnces and money income. have

doubled. Real income in such case is

A)

B
c)
D)

doubled
unchanged
halved

impossible to estimate from this information alone.

RBI ufletr &(h&sCug. LTS LT erend GHLEHisug

A)
B)
C)

D)

Qurgwsseflib 2 eren LswTb WHIID Surgwsseflsn Caemes Gy
QungnssafiL b 2 e Lsd LHIIDL JEHeass Gabluy iy
Quigwésafib 2 een  uewmd  Sigpseves  Galluy By,
Qungwsaafisn aukdaaflesten ste wHDID ey GHLL &S
Quiginsseliib o eten LD, SEhENsRsle wHmD el
surhifl sefleysiien BienenSg) sneuULSHS6T.

According to the RBI, broad money refers to

A)
B)

chrrency with the public and demand deposits of the public
currency with the public and post office savings deposits

Ly~ currency with the public, post office saving depostis, time and demand

D)

deposits of the public with commercial banks.
currency with public, all deposits with post offices and commercial banks.

[602] ‘ [ Turn over
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114.

115.

116.

ucigwed I g ulgwed II eodér Gurmsdl, £C8p GQarGssuul_(Hister
P amms Qanan® sflwne ellem_eows Csibls® :

(FIRYTTT Vi § L guied II
a) U6y rmev 1. uEd suflael Lgluniey
b)  B.e1&. smbuieSsn 2. OungFwfleneort L@GULITLey
c)  Gegnetr GumSleirerstn 3. womflenwy Curiig
d} eodlr wriaged 4. Rep@ampl Curiyg.
&G s :
a b c d
Al 2 3 4 1
Bl 3 4 1 2
C} 4 1 2 3
D) 1 2 3 4

Match List I with List II correctly and select your answer using the codes given
below : -
ListI List II

‘a) Walras 1. Partial equillibrium analysis
b) E.H. Chamberlin 2. General equilibrium analysis
c} Joan Robinson 3. Monopolistic competiton
d) Alfred Marshall 4, Imperfect competition.
Codes :
a b c d
A 2 3. a4 1
B) 3 4 1 2
C) 4 12 3
D) 1 2 3 4.

eiieney Genpeugen &rremTons g Cunmeflsn Gioed QreeliLu@ib Clwrgs
Gleeveuneng silswnenney, Coamea CnpdlprdAwnens

Al >l _ B <l

) =0 ‘ D) Senau wnayb Geoeme.

If the total expenditure on a commeodity increases resulting from a fall in its
price, the elasticity of demand is

AT >l B <l

C) =0 D} none of these.

vewgComa  eninlsd Sflsfluy epuGbCuis oig LM easmetausnr
L uQuwiey QFleug
A Brapupsdine B)  euwgpssine
C) e deuls gmelhE D) @de agiabd Beoeneo.
An increase in the money demand function causes LM curve to shift
& to the left B) to the right

C) to the maximum extent - D) none of these.

602
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117. SPHaauIL snhmyssmen Js

sapm 1 : Semellels smpmyung @ puflst mstey oeugenLw Erksr

su(meunullshr gy LLenLsmw s SirwreflssiuBEng.

gapmi 2 : Sewelleln  CarumenL (pupeu@meuml misteys  Camun®
srs&‘tmsmgpés&ﬂu@&. '

- = "
Beunayer :
A} sabml 1 WHMID 26 &

B)  sammy 1 Ffl guemned saphm 2 Feumy
C)  sabhm 1 Feum eTe0 Fathmy 2 &
D} saphmser 1 wHmHib 2 Feumi.
Consider the following statements :

Statement 1 :  According to Keynes, consumption of an individual depends

on his permanent income

Statement 2 : Keynesian theory is called- absolute income theory of

~

consumption.
Of these
A) Statement 1 and 2 are true
B) Statement 1 is True but Statement 2 is false
,C{ Statement 1 is false but Statement 2 is true
| D} Statement 1 and 2 are false.
118. Spsasim_ sabhmisemer s :
sbmil  :  en Heopayy Surlgwurett g dameamus Siorafluueul
wHnib @ wHofaowrent eleneenu appstissTLeT '
sapmi2 :  (ponguflenwlies ComasGar® Heswwneang. spenned Heoi
wopflovdeo  Csmasbsth wyey Qriw Buerns
(Bléswwonn) Eepeoulled o eteng,). '
Baupgyer :
A)  empm 1 &fl syemmed 2 goumy
B} sammy 1 Seum) JeTred 2 &ifl
C) sabHmissT 1 wHoin 2 &f
D)  smpmsen 1 WHDID 2 Heuml. _
7 [ Turn over
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Consider the following statements :
Statement 1 : A perfect competitor is a price maker and a monopolist is a
price taker '
- Statement 2 : The demand curve in monopoly is determinate whereas under

oligopoly it is indeterminate

Of these

A} Statement 1 is true, but 2 is false

Statement 1 is false, but 2 is true

C) Statement 1 and Statement 2 are true

D) Statement 1 and Statement 2 are false.

119. wrmd) o Qs sSWOGQL, wrmdl Ceuebr, mﬁqbél 800 HMID WNHE eevietd
SPwapenn o phussl Ceudlng. SupnsE Bl Cu eam BHNIHGS

Coomeu GlpdpsAwneng
A} Baeyb gemmey
C} PDaeyb HHawb

B)
D)

1flgionen )

Bemeu wnayb Bevemev.

Maruti Udyog Limited, produces Maruti Vans, Maruti 800 and Maruti Esteem.
The cross elasticity of demand between them is

B)
D)

Moderate

none of these.

120.” fpsseineubhmiet g e mset wrror. Bein S b (bsbd) Gomeo ?

A)  Very low

Very High
A)  igflbeiv
B) wfluev

Cl oremeus sHellser IHmID Semeur_BgeT

D) wraflwb &nitg Caerellsa,

Of the following proposals, which is not the proposal of Dunkel Dralft ?

A) TRIMS
(Q)/‘ Arms and Amunition

B)

D)

TRIPS

Question of Subsidies.

121. eflwieneu e_emipliy stsimugl wrenrsd @GOledlng 7

A) 2 uwibg saedl 2_enipliy
C)  snphbs emel 2 ampliy
Sweat Labour is associated with
A) High wage labour
j’.‘f Low wage labour

B)
D)

B}
D)

(602

Soib GuhHm Cgnfleonsil
Blensu wrayb Sedenen.

Skilled labour
All the above,
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123.

124,
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e Quimenr e mamssiiul Gieten gm Brligembs ebusmer QawwiL@b
pHp BILR&E BILEH cdomoenws sranGwbbury adlésuu@n el
Spsacm_ahHie sigeuns BmeGs ?

A) el Sieneuseh | B  enniwd Stemeuser

C) Prblluwiey Sieneusen ' D) wduyddg Sisneuasdn.

“A tax which is imposed on a commodity crossing the national frontier
originating from and destined for other countries”. What does it represent ?

A) Compound duties B}  Export duties
ﬂ{' Transit duties D}  Ad - valorem duties.
Lebiem (B euligganeng Spsacm_suhmiled petemnd sribg L SEng
A) | Qgmfiso pIugdmens B) wGarens Amuiys Gairsd
Cl  uewun® (seonsnmb) D) rdwe Ggemeu.
International trade takes place due to the following main reason
A)  Technological advancement /B‘( Geographical specialization
C} - Tradition D) Political needs.

vemenr’ B B Bmewemd e @endstu L Curg  FlO  asgsme
e pitnfertast mbsen ?
A) 50 _ B} 44
C) 45 : D) 42
When IMF was started, how many member were there ?
A) 50 91/ 44
C) 45 D) 42
ot Bné@udurmi e unmame Boéeud Qelausnanea sEHs srsndisl
Qupeugpsrs @f Bmueou Boulle mauss Guan@wn. Sits Bomuy
Onssud Qeiwudtigsegd Curmsiss  wHALSHCapparn  BEmSH0
Caanw. Qg amss @hadng ?
A)  BLUY emsuUL &6 ©B) geusmenar soeuUliL5eT
C}  (péln eneuliys Clgrens D) @eaupdie sigand Geoemev,
“A deposit required of an importer for carrying an eligibility to import an item,
the amount of deposit varying with the value of the proposal import”. What does
it represent ?
A) Demand deposit B)  Time deposit

Advance deposit | D} None of the these.

602 | Turn over
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126. Slebr eumeueneupfled o155 Bmé@wdHe ugﬁs&_@a@g sHouns Geoaneo ?
A)  Qewedpenns srésw (elsnerey)
B) uebteatn_(5 Qumysen WwHb SE LS
Q)  @psgudls Cameausen
D) Geusnev eumistsy.
Which of the following is not the hurdle for import substitution ?
A) Demonstration effect
B}  International commitment and hurdles

C) Import needs

/B), Employment.

127. @@ Sedlei BLSMmBUTMS HBMIML W QLIGESTT I ieuSens (PSNss

Qarsm@Bgne s1hg (Piymab aH&En. D& amss GHsdpng: ?
A} Qunmenngniy !Bémeoﬂun@

B}  epigw Guwmenngayb

C) Qummemngrr £remibiiy

D} Gurgiajenenw Quamengnrd

“A behaviour pattern in which economic unit is guided in its decisions only by 7

its own economic interest”. What does it represent ?

A) Economic stability B) Closed economy
‘ /Q)/ Economic rationality D} Socialist economy.
128, Ggemeu memmmuﬁleb' S DAHOD  euhSTe S5 PenQemm HistGounflew
Caeney @,pmg;mmuﬁ!m p_given wnpmgg,rrmg,nsh Bens e sTSETM)
SEOLPLILINiSET.

Al mstey efieneney

B) eanesflu wrHmielisn lensta .

C) memL_(penn efenemey (Qamg&nL®§m)
D) Seneu gimensgib.

A change in the demand pattern of one set of consumers in response

knowledge of consumption behaviour of some other sets of consumer is called

A) Consumption effect B}  Terms of trade effect

}21‘ Demonstration effect D)  All of these.
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129, Qunmenngny susmisfwneng, HHGUIZISTET BLcugsemsamul Quimss HCs

-130.

131.

132.

aueniEfeow 185 Cassdled mausfHUUMS .............. e1emy FnmdlCpmb.
A}  sflew susrisd B) &ﬂ&mtﬁ]sbmn_;s eustig s
C) femeoflmsdw eueniéd D) Beneu wnayb Heoemsv.

The process of economic growth with can be maintained with the type of

currently pursued activities is known as ........c..coen.es .

A) Balanced growth Bj unbalanced growth
/O)/ sustainable growth D)  none of these.

Spsaar_unhiled wrir uerelwied gidseunsll ustaflsnwég snrngeuir ?

A)  anhéd Nyeemi B) Gggibeiv CLmfeir

Q) GLeSi Guein D) e sin N Guoe.

Wi'1ich of the following doesn’t belong to Monetarist School ?

A) Karl Brunner /B)/ James Tobin

C) David Band D}  Milton Friedman.
Geusfla@ananiiger elfemeney ersiTug) abs CengujL_ebr Glgm iy
QanehsBereng) ?

a)  Ggg.eteiv.led B}  m. piss

C)  @etennit Bligned D} Glggulendiyneiv.
The term Demonstration Effect is association with

A)  J.8. Mill vB)/‘ Prof. Nurkse
C} Gunnar Myrdal | D) -('Iairn Cross.

Spsseraupio smHSICHND aenenbloussimned GUILSILLUCL  SiemeTggib
@ &;@nunl;qdi 2_eheng,.

A) FEMA B TRIPS

C) FERA D) | Bleweu sigiaybléoensy.

The theme of ...................... was “Everything that is specified is under control”.
A) FEMA B) TRIPS -
/Q)/ FERA - D) ~ none of the above.
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133.

134.

135

SpseamLsneusailey aig) SEZ Gen @ilaCanet Gevensy ?
Al ghmind eummeunit CluhéEGHSe
B) Ceusmen sumisiiyy o (HeunéGsed
C}  uewn gefliuenuls GLmE @GS
D) efenw wriHpssnigw GFrPled i Lib.
Which of the following is not the objective of SEZs? (Special Economic Zones)
A) To increase cxport earnings
B) To generate employment
,C)/ To increase the supply of money

D)  To encourage transfer of technology.

SpsaamLameusaflsd sig Hwapn_H Qsauss Smuyblmeulled LHDIGGOD

060G 2.l 2 eior_nsang ?

A) | WiSsssSe0 wrhHpw eleusmnugdle L@ LIHHELD

B)  Gunmenmtgar wrhHmkissn |

C) Glgmnfléd pssmesfliued wrmmid

D) seonsny wrHmb, ef@HUL LIHDD, (esigyfleno wrHDw.

Which of the following is the factor which may not bring a deficit or surplus in
the balance of payments ?

A) variations intrade and several changes in agriculture
B) changes in economic conditions
Q) technological changes

changes in tradition, tastes and preferences.

. uettesn_ (B B Bmyauend HECLILIT 1974@0 @ G JMWLSHE!. - HF6D

22 e mirnfeniast o_srenen. SihS @peNesT QLW .....oevverenee. .
A} QentiulL G

B Hdé ew

C)  cusmigdlé Gup

D) QCuhssawLsinile agia;bicoemso.

The .covrviininnes committee was established by IMF in october 1974 which
consists of 22 members.
A} Interim committee
B) Finance committee

_eT” Development committee

D}  none of the above.
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136. 6o eu@hL-tb SAARC fliwnenflaasniu’ L g ?

A) 1980 B) 1982

C) 1985 ' Dj) 1;)87.
’ In which year SAARC was established ? |

A) 1980 B) 1982

/Q7 1985 D) 1987.

137. Spsmen_supifed e1g NIEO Bt smssim Sevened ?
A) e ewrey wHmib eNeuFmub
B}  gileflwer woHmib Clzmblsd mesorssflwb
C) Guns@eaursg whmib Cen iy eugdest
D} Gignfln @eiley. |
Which of the following is not the theme of New International Economic order ?
(NIEO)

A} Food and agriculture
B) Science and Technology
% Transport and Communication
D)  Industrialisation. '
138, uswieom (R Bl Blyeuemd wHmID 2608 eurdlu)Lei mp@mn@ Bmieuen(pid
. ' 2 (HeunssLILL BhE55. NG 68 ? _
A) IDA B) GATS

Cc) ITO D) GATT.
Which is the third institution which was supposed to be created along with IMF

139.

and IBRD ?
A)  IDA ' B) GATS

/e)/ ITO D} GATT.

s Bl 2 08 auisgs Bnauargmsl undl Gesurm sfug ?
2 wa auisss Hmeusnoreg  mriuser, smusalldr  GunmenigirSens
CustamwowenL wé Qe 2 gaflnsg.

A)  urdlevgnsi B}  Suduwn

C) Feam D) @eomisns.

“The WTO made us reform our economy”. Which country has said this ?
Pakistan B) India

Qj/ China | D)  Srilanka.
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140. Ghweoflsi  sapmitiug  Spsssu_euphlsd a8 sueniels suuﬂ@,pm,rguﬁlsur

141.

LETEnLOLIGOEY 7
A)  eumeumi 2 Hugd)
B) 2§50 eufl unid@
C) eACausgmzujb ROLIONWPESSMSILD 56801185560
D) cuemiFRenw earsEel 5560,
According to Taylor which is not the advantages of progressive taxation ?
A) Revenue productivity
B) Optimum allocation of taxes
2’]/ Punishment of prudence and virtue

D)  Promotion of stability and growth.

2 eimenwwnen eueniddl eaeug Ceaemmamenwown Cgrfossmenuyn sfswons
wpaGonmeuGs -wnir Benss emlwig ?
A) Cupndfiwi wevdCrsu. B) A.C. N
C) Cuordlflwi J. grgon Gssvemeown D) Beunfled s1gie)bledeney.
“The most fruitful live of advance lies along the path of a balanced development
of agriculture and industry” — whose words are these ?

CA) Prof Musgrave B) A.C. Pigou

ﬁ)/ Prof. Raja J. Chellaiah D) None of the these.

142. @@ Swsneng @ophs Sy Cewaflss @wpbs s afl dfse

QeweLn’ L e & @ B Bed HTFIGID. G smss GOSEDS ?

A gdls Qungpevsit Carun®

B} e&flew aurey Qameays S & Canun@

C) | Beoer flflé Gam_ur®

D) Gm;b&sdwi_su;_i)ﬁleb a6 bl evenen.

The government which spends the least and impose the lowest amount of taxes
is best. What does it represent ?

A) principle maximum social advantage

B}  principle of balanced budget
/O)/ principle of sotind finance

D)  none of the above,
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uporsGsn fflursssden wefussiaun anhs cumpLn QOsiEss ?
A) 1924 B) 1914
C) 1936 | | D) 1948.

The prominence of deficit financing came into existence in

A} 1924 B) 1914

/Gj/ 1936 D] 1948,

(pHmyfNemwwineric Lﬁ'gj sSgnsenr  eufl eﬁlﬁlggms\) Seuit  ewILTY  BL_S6mS
srailsun,rgrr@m ?

A)  afleow 9euCr anpsosrearauni

B)  eufl enbuy Qebeumi

C] eauflemwé Glesvelley Caitium

D} euflenw Sjsu@nb, @aﬁﬁeﬁn@m Ceibgib LkflBeul.

What would be the behaviour of a monopolist if a proportionate tax is imposed ?
A) tax is borne by him

evade the tax

/E( merge the tax into cost

D)  shared by both him and the consumer.

S1péaeton_cuhniled 1LY BLAIGEMNS UHDT&GEHD BHwssenss
sLGUuGSSHADS ?

A} euenihgl eu(BLD MGy B) euen(mid Ceuenev eumiiiy

C)  sien sl GuuI® D) Gummsq 2 mhugs.

Which of the following measures assists in prventing deficit financing ?

A) Increases in consumption B) Increase in employment

)2]/ Control on credit D)  Large scale production.
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146

147.

148.

. ordlsn Coumevast Busflmsen Quimetas smasiuBdng, Hemeownen

SIEOWUILIEHLIWGHNS HTETed 2 (Heursslul. (B Brliged Fleva b whg Sesenweanw
SBHNID Fedreno Qarstm_gneo syrered Gufgin FpreouGHng). |
wTHENLW eunigengast Bemey ?
A)  weivdlBreu B) J.M. Qaheri
2 M. demis, | D)  @mitso @i,
The public works are durable goods prirﬁarily fixed structures, produced by the
governments are favoured as an anti — depression device. |
Whose words are these ? )
A) Musgrove B) J.M. Keyner
Q) J.M. Clark D) Carl Shoup.
wenm(ps euflullett 2 e 2 een sy ClUNwsT wngy ?
)  Gpienw (mib) B} fléswb
C) Qun@menngnribd &rigg D) Criemweanw yrudsflssen.
Indirect taxes have an element of
/Xf‘ equity B) certainity
C) economical D)  encourage honestly.
Spéaem_subiiley a1g Beng @GH&EGHL ?
o Biaurd, grasEb meanduds@d o sailuns o_sereul, afl aIssms
wiHil HenwHGH Ceusned eumiifgb slenevsst WIMDEMBUD LTTGES Llebr
aufl efgsens wrpB SiepwOLT. |
A)  efCeusypeten Qaneions B) efifleunsaupsten Qansrens
C) eswfii® Hemeonys sammw D) @sSlnd Qrdlpey seemi.
Which of the following represents this ?

“A standby authority to the President on Government to change tax rates as

soon as fluctuation in employment and price situation are observed”
A) Discretionary fiscal policy B) Expansionary policy

C) Built-in-stabilisation /D‘)" Formula flexibility.
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149. grggn GlFsbensown @G(p sioenIL 6o Clgn_ ity 2 eneng) ?

A)  eufl ‘ B) Seonu ey

C)  eumeumis D) Gurs@esrsa.

Raja Chelliah committee is related to

A Tax B) Dividend

C) Revenue D) Transport.

150. dpssam_aubiled ag BoeCan aurey Qeamas S L s Setemiowsned

A) Qsefley B) Cgienw
C) gpOIEL D) QEdpeyssseni.
Which of the following is not a requisite of a good budget ?
A)  Clarity 7 B) Integrity
2 Unit D) Flexibility.
151. The Indirect Taxation Committee wmi genevenwuied Hmyeuiiul L g ?
A) Gr&dl B) rnggr QlFédemeown
C)  Swund D) gng.

The committee of experts on indirect taxation was appointed under the
chairmanship of \
Rekhi B) Raja Chelliah
(o}] Tyagi D) Raj.
152, uligwed I g ulguwsd II eLer Quipsdl, £8p OCar@asuul(Hsren
eNuBsmns Qatsn®m sflwrsn elanLsmws CaiECzH :
L guied I uligwed II

I) apeugen S T 6l a. 1957
) G&eédeu sufl b. 1953 -
) Guieni eufl c. 1994-95
V) Geemes auffl d. 1947
LT
I  m I
A) d a b C
B) d b c a
C) b d a C
D) a d b C
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Match List I with List II correctly and select your answer using the codes given

below :
List I List IT
I) Capital gains tax -a. 1957
I}  Wealth tax b. 1953
III} Estate duty c. 1994 -95 .
IV) Service tax d. 1947
Codes :
I I m 1
/A{ d a b c
B) d b ¢ a
C) b d a c
D) a d b c.

153, SpssanL_ ag) petn Caflus aLdn sdensgrs Gausfluu@dpns ?

A)  eso.gp.dl. LA ' B) BetL_&me0 T&L USSTmisst
C) Ggflw GCeBluys sreimy D) Wgrefl e K14,
Which of the following is not viewed as national debt ?

/67 LIC policies 7 B] Longterm Government bonds
C)  National Savings Certificate D) ?rovident fund.

154. wpmflmouiler Bnfblensr sumeimis ernaf m@mnmmsﬁh_s (&HENDEUNS
o_srengl. ablenefiey (phHmflenwwineng

A) ydu Bipeuentiseailen mempeneus sellisdlsmmi
B) siflewrs dipumen Qsiw QuIgst dlmemus Gmpas GG
C) siflawren edembLré Csevasmamen ans Geshmyuetang)
D} @4le agiayb Hsoamev.
In case of monopoly, MR is less than AR because, the monopolist
A) prevents the entry-of new firms
/B)/ must reduce the price to sell more
C)  must incur morg advertising expenditure

D} none of these.
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155. eustmemy Glgnemevsasn Al QUL aaflsn allemey Coemeu CrpAPsFA - 2.5 s
wHuiE Gebwunu@Gdarmal. cusimenry Clarmeosatr Al UL igaefldr alames
20% g5 @mg)umc?ungj fihatu@h auanens Qgramessnd Cul gaeflesr
sgels 2 wia aeusuama; QmasEn asnm £ adliurtsdeapmi ?
A} 75% ‘ B 50%
C)  40% , D} 30%.
The price elasticity of demand for Colour TVs are estimated to be — 2.5. If the

price of Colour TVs are to be reduced by 20%, what percentage of increase in the
< guantity of Colour TVs sold do you expect ?

A} 75% B 50%
Q) 40% D) 30%.
156. 26w flssnellst epsiniled Bresm® L@Hwnen perGenbnsIhHG @,u&ﬂtu swyewfl
A)  eSleusmuibd B) Gamnfheened
C) Qanfléd mesmenflued D) Beneu aigebd Pevaneo.
Two-third of the progress in USA was due to ‘
A) . Agriculture B) Industry
Technology D}  None of these.

157. feawmiame e pHusd srnfsr s 2 pusdudw angud\aﬂ@ﬁg e
2 Huss subElemeouliien Lsirsngj sTemy snedet : @@ AB = BC

P

B c

5 B .
O A o,

Q,
. Q
o Labour
A)  euemitelgL Lwellensmey B) Hemevelsl umwslanenay

C) (HOObELFo LD ellamemey D) eadliweny llewmenay.
From the Isoquants map find out the stage of operation of long-run production
function. Here AB = BC.

P

: c

5 B

© A Qs

O,
o,
0. : Labour

A) - Increasings returns to Scale ,BO/ Constant returns to scale
Q) Diminishing returns to scale D)  Negative returns.
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158.

159.

160.

161.

Dr.- HL. oaw92r eaepdlw Cubudmszie CQunmermsirs Garlun® eehm
Ussssdlen GCoeneu gniny = Q = 20,000 - 60P aetimy Gmé&EwGung . 200
eisinny eflemevuiied ellemev Cgemeu GlmdpFdwineng

A} 1.0 ,B( 1.5

c 20 D) 0.5

If the demand for Advance Economic Theory by Dr. H.L. Ahuja is given by'Q =
20,000 - 60P, the price elasticity of demand at price = Rs. 200, will be

A 1.0 B) 15

c 2.0 D) 0.5,

Bpsacu_aundics  aBzs  Oaneiems  srflgl uesTd wHMID &L
sUGUuUIlamL  ElieamilisEn, 65 sowb Jms o (GH&ECaramsea)n

Clanetora (haG10. G agl ? L
A)  sLél QandTens B}  uewr fliieunsibd
C) fdls CQsneens D) = Qung f&ls Clardrens.

Which of the following policy aims at the systematic regulation of volume of

currency and credit with the definite objective in view.

A} Credit policy /B)/’ Monetary management policy
C)  Finance policy D) Fiscal policy.
feireueisTeaubHmIET 615! uswsurm.@ Pmeuengengs snyng ?

A)  dlevsuLl B) yrr&Lir aqsdm@ CoiisSen

C) weflefous - D)  euGyn.

Which of the following is not a MNC ?

A) Gillete B) Procter and Gamble

C) Unilever }))/ Wipro.

@iHwneden QeuellEri® sen Sia) 2009-10 @B HLUL eu@Heurles
ggels LS,

A)  4.7% | B} 4.8%

) 4.6% | ' D) 5.5%.

s
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India’s external debt servicing at the end of March 2009 - 10 as a percent of -

current receipt was
A} 4. 7% B)  4.8%

C)  4.6% py/ 5.5%.

162. ydw  Qummemzrrs Qaneremswtlssr  paflw  WenseTiy
CurmemsITE Gwane aHuBSSIeusTEGLD.
A)  gmiL_wbhp |
Bl Gurlig Beomis
C) e ewsLWLIGEG:SeS6N g iLenL_uilsonss
D) surbUbHD,
The main thrust of the New Economic Policy is to creat a more ...............

economic environment.

A) free ﬁ/ competitive

C) globalised D) borderless.

163. Yer @MUGGsuSled a8y 2 esbLLISEEGS® eep smsHenr Camm_umigen
SigLiusnLwleonsmgn@n 7 ' |
A)  pyeows tswes GCamun®
B) uil®é eeways Gamun(

C) eowpas Cesays Cam_un(
D)  euminiyd Clseveys Canun(.
Which of the following is the theoretic version to the concept of globalisation ?
A) theory of absclute cost ‘
/B‘( tbeory of comparative cost
C],  theory of social cost

D) theory of opportunity cost.
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164. @hdunelled 2008 - 09 b eI SOPET g6 LMD 2 HUSH .......coceeen
@ gdlev 2 sengy whHmbd b wrfleogHlen LTeSsn R B Goon HevL LiLeTey
.................. HAEa|LD o_6Teg). )

A}  (pzed, 205 frmbaen ’ B Qwetn(®, 215 Srrse
C}  geugneug), 235 Aymbset D} epsnpreug, 230 Srmbser.
Tamilnadu was ranked ............... in milk production in India and the state’s
percapita availability of milk per day was ................ in 2008 - 09.
A) first, 205 grams . B} second, 215 grams
. /6 - ninth, 235 grams D) third, 230 grams.

165. Seir Qar@sariurDetendled g 2008-09 Sane SEIPHIL G SO umHaNL
G ?
A)  em. 25,474 B} em. 24,205
Q) eh. 29,445 D}  em. 30,652,
Which of the following is the per capital income of Tamil Nadu in 2008 - 09 ?
A) Rs. 25,474 : B} Rs. 24,295
C) Rs. 29,445 _BY” Rs. 30,652.

166. 11eug S srewgdled sblpenR Qunmarsmrsder urks Crrssb
A)  amiewemus GHmDUUg ‘
B) Qar_isfunen Buss Heveoss suamisflenw énmi._sug
C) GCasmeeaminenul QumEEGag)
D}  sywnen sedellenw eulpri@eug).
The broad objective of Tamilnadu economy in the 11th Plan period is
A) reduce poverty _
/{::3)/ achieve steady and sustainable growth
C)  increase employment
D)  provide quality education.
167. slpmHrigen 2008-09 Y EMQHEHNET @SISED aprisiLLLg)
A} eSeusrwib wHmub efleusmuib snihs Lewlla e
B} ®iiursemb wHmib Cleustend s @Uun(
C) sl (Bpey
D) &@péz Hmib Glurgiwéaen usflae.
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The highest plan allocation of Tamil Nadu in 2008-09 is for ¥

f
L

A]  agriculture and allied services

B) irrigation and flood control

C) co—opefation

/131/’ social and community services.

sSBPBEI g @ BRwIgsn GQurmerngiy aerisd 2007-08 wHIMID 2008-09

SpemHsafled Clupmg |

A} 8.50 sgeisbd B) 9.00 &g;ﬂg_ﬂb

C) 7.65 #zelsd D}  6.09 szeizw.

The overall growth of Tamil Nadu economy during 2007 - 08 and 2008 - 09 is :

A) 8.50 percent B}  9.00 percent

C) 7.65 percent . ,Dj/ 6.09 percent.

10 eugy S iib 2007 b EMBDE@N GUhmg SOy dssms (IMR) 45

SpsHab sni ooy eigsseng (MMR) guilrn SDULSEHSHE 2 JpeaD GODEs

Beoag Biswmunn QFuigg). | |

A} Bratn(n Qevs@aemnenuyb eneudled Cleupn) sesoTL gy

B) MMR Qasdled Gaupl yenLbsg Speomed IMR Blevadled Camevelenws
ST |

C} IMR @eadled Qeupi) emhgg pemmed MMR Bevadledy Gorevallenws
S6HTL S

D) Qrean@ Devs@amenyd oL suded Carevellenws setor g.

~ 10th plan targeted to reduce infant mortality rate (IMR) to 45 and maternal

mortality rate (MMR) to 2 per 1000 live births by 2007,
A) on both counts it succeeded

B}  succeeded in MMR but failed in IMR

Q) succeeded in IMR but failed in MMR

/B]/ on both counts it failed to achieve the targets.

' [ Turn over



PGEC 64

170. ugsreug S sdlen sumisd) penL_(pern (PresTLN_NETIG

171.

A)  fiewmlissiuli sueniddenw siemsudleo Carivelleanwus seaiv_g)

Bl melleusnphg ifleflent whmib agempsEnsE eustisdl UeosEenens
Qs Caiuugler Garevailenws sem g

C) eaisdlgs Sl mesd wHpn wrefluksdr Gopuudld Gg,rrsbsﬂmmé,
ST &) :

D) @Gom eamiuwser  Gubmssaldt  alfsremsmss  Geniuged
Canevellenws seiorLgy).

The irony of the growth process in the tenth plan is :

A} it has failed to achieve the targeted growth

/Brr it has failed to percolate the benefits of growth down to the poor and

weaker sections
C) it has failed to bring down subsidies and populist measures
D} it has failed to reduce the proportion of underweight children.
Wetr Qan@ssuu(eamdled ss Sidws S HGseder CaxreveSlwmsd
UL TS ?
A)  Qurgenrsir HLHmey, Cledeus Gelgmead sH UL Garedet
B) Gsdlw sumesnenw dlefliudlédr Cxrsred
C) eugpeumil LHDIDL OFves ahmS STpasms GmpLLSe Careed
D) Q@ﬁmummm@é@m Geueney sumiiy yeflaangder Coneved.
Which of the following is not a failure of Indian planning ?
A} failure to reduce concentration of economic power
/Bv,/ failure to increase national income
C) failure to reduce in equalities of income and wealth

D} failure to provide employment to all able bodied persons.

172, S s@apelen  gpuiey Oeusfluu®@Ssioug) eaenenbleusomned Glungmenngry

Fifmsssdne Ipmsw srwsded wenfle Granh umdpne Sifswren
(S (B Fi_Lnser emeumeuameuniled el (w5

A)  euLdlpsE wrtleomss B) dAmuy suens wrleorusen

C) psBanflw wrkleomsen D) et sradw wnbleomser..
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174.

175.

176.
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The planning commission’s study revealed that more than two thirds of
investment proposals in the post reform period were concentrated in the

A) North - eastern states B)  Special category states
ﬁf' Forward states D)  the backward states.
sipuenen eufl wHmID 2 HLsH euf) Gurrsurg) wenmps euflaer g@m BisiGeounflsn
Beogglenen
A) euged QEndlsip cuflullemenelL s GHepeunss Glauwb
Bl augelsdldin eufls@ms swions Bme@n
Q) eugedladley suflenwel 2 uflwns Bmmée@wn
D} Guobsnenes agiab Bevenev. i
The indirect taxes such as sales tax or excise duty can make the cbnsumer’s
welfare
A) lower than the amount of tax collected

B) equal to the amount of taxes collected

/G)’ in excess of the amount of tax collected

D) none of the above.

Bpsean_suniie e BIH Fwn yed Bedemer 7

A)  Ggen Qanflun B)  engeunss

C}  Pemiens D) SeSiismusine.

Which of the following country is not called as Asian Tiger ?

A) South Korea B) Taiwan

£ SriLanka : D}  Philippines.

sl 2 husHleE WhmswU JmeTES JGsalss ... an.i_ig

Qumeugetn eweud Glongg eubeutemwil Clupeob.

A} erref) aumeumlser B) fmndlflemeé Ceaasen

C) Bnsklene suheunisen D) e&meflé Clevayser.

Total revenue can be obtained by summmg up ... eeaebenrens of all the preceding

units of cutput ' '

A) Average revenues B) marginal costs

©F” marginal revenues D)  average costs. J

sreoeond shengsatlenn oGy asm)g,,é]m swhme Hepaiensg GOUNGHsD
T SPUIGY e IS0, ‘

A) uEds sufleney B) Gungé swkleneo

C) shemas snflaned D} B4dlé eigabd @e‘ommr.
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............... analysis deals with simultanecus equilibrium in all markets

A)  Partial equilibrium B~ general equilibrium
C) market equilibrium . D) none of these,
177. &psacm_auphled ez ustemi B amenflugfen penenw Fevemeo ?
a)  fleopu 2 pussl
B) Qensg oiflafssed
C) ydu Qsnfihsremest suudBag ((GYhms) -
D} o gsw und@.
Which of the following is not the gain of International trade ?
A) Longer output B) Enhanced wealth
Blow to infant industry D) Optimum allocation.
178. usteon_ (B euiggsd Spssa_cunile enemms snibSmsdng.
DI sienen 7
A) eenpuy Ceusmeo GflL B}  Sirdwed Glgnitasen
C) sensms Qsniyse D) Beandled aigia)flevenen,
International trade in the outcome of
/M’/ Territorial division of labour B) political relationship
C} - cultural ties D)  none of these.
179. “L_isev” Cui @ flenw @iSwisenmed ageunss AszhNasstiubGdps ?
A)  prlssg B) umbyssig
C) Gzen &g D) Bemeu wnew Bdrenev.
In what way Dunkel Draft was criticised by Indians ? '
A) | Dog bite B) Snake bite
,,QK Scorpion bite D)  none of these.

180. SpsastmiL smppysemen seuet :

I 1860 (pse&d 1908 euemrlenen  sresdéd DAL efiew
L AlenGLing 20 emp LEHFDL ThL_HieTengs

. 15 Beellwenr wasst Diseteorsrs UEhs  eHlsmTanemTbE i
sems S (DeTeng,.

Beaupgysr :

A)
B)
Y]
D)

I bpmd 11 reao@b SeupnEb
I b (b eflurgb
II wi G Fhwurgb
I vpmw I Poaw@w sflwngib.
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Consider the following statements :
L During British rule 20 famines occured between 1860 and 1908.

II. The Famine Enquiry Comumission estimated the death toll in the
order of 1.5 million persons.

Of these
A) I and II are false
B) 1 alone is true

II alone is true

))j/ I and II are true.

181. weflgeuentsd oflsens 2009 L.Il.q. werfls Guburn. Gié GRELye Brfur akg
S50 e _enengy ?
A) 143 ' B 134
c 135 D) 136

According to Human Development Report — 2009, India’s rank in Human
Development Index is

AT 143 B} 134
) 135 ‘ D)  136.
182. Sp&seir saphmisener seuef] :
L suenihs . GlunmergrrsSn @b SueTihGIeU(HLD

Qunmenrsrrsdin@ e, Cuw o eten el pUT eu@eumi CeupHpieno
eeiug  Guflgd  Qungpemsay 2 etenemwinfey  Ceupmuenwullelr
SrHuefl iLm@b.
I @s8w Gunmenngrmbd  Ceusnredmenwenw a&gnumnad& Qanegor_
Qun@enngiry HenwiGeSimhg Csnflene arrorsds Carsr. @i
S{ENLLIL(LPMDEE WM OlFwedE e damsslul_igmsdng).

Baupnyeir : ,
aA)  TwopHgd 11 &f B) Twhmb Il geumy
C) | peumy, speommed I &l D} &, syemnmed Il seup.

Consider the following statements :

L. The disparity in percapita incomes between developed and under
developed countries is not largely a reflection of disparity in. the
structure of economies

11. Indian Economy is passing through a process of transition from an
agricultural economy to an industrial one.

Of these :
A} I and I are true B) land]Il are false
}‘,)/ [ is faise but Il is true D) lis true but 1 is false,
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183. SpsaehiL sapmsenen seusd .
Sapml 1  emees Hprg HAodv Cursin e pusHOe usie_H

Fimieusemsaet miemipihgisnener. - .
gapmi 2 : ey Adlw  enellevrew  Qznflevmefid  mRUCHierer

Gigmfleoneniiamer GleueflCubHmiriL_ e,
Bawpyer : '
A} sammy 1 WL HGw &f
B smn 2 wGiGw s
C) anphped 1 wHMHb nhry 2 sAGwW
D}  saphmisst 1 wHmh sbhn 2 Seum).

Consider the following statements :

Statement 1 MNCs entered into the production of even goods like potato -
chips ‘

Statement 2 This displaced labour working in small scale sector,

Of these .

A)  Statement 1 alone is true

B} Statement 2 alone is true
,2( Statements 1 and Statement 2 are true
D) Statements 1 and 2 Statement are false.
184. o stefl (B Qleueflli (B LGLiLmiley FbwhSOTSE Seraumuane sllwreang e
Al am Qurmstigmsdled e puss semwimu abSgmrsHng)
B)  ueCeaum 2 hHusdls Hlennser getenn qemy FTikhgeTeng)
C) osearflgelued g,s&rmmumt_wg '
D) wdiy Siwnengdlen gen_LiuenL ullsonsngy).

Which of the following is not correct with regard to input output analysis ?

A) It studies production structure of an economy
B}  Assumes various production sectors are mutually interdependent
C) Mathematical in character ‘

,B)/ Based on value judgements.
185. élg;@gn@si)am simwssasden QUi HlaFfdiu, Au vHmib EESST
Qamfler MW FFSD 6168 WAHHUIUL LG
A) 2007 - 08 @paed B) 2008 - 09 apged
C) 2006 - 07 (s ‘ D) 2009 - 10 pae®.
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The nomenclature of the Ministry of Small Scale Industries has been changed
into Ministry of Micro, Small and Medium Enterprises from

2007 - 08 B) 2008 - 09
/Q)/ 2006 - 07 D} 2009 - 10.
186. @iFwreled Qgmilheniss sl Lib aps an@® QanaaBeuriiuc L g ?

A} 1926 B 1927
C} 1928 D) 1929
In India Trade Union Act was passed in the year

A 1926 B) 1927
C) 1928 D) 1929

187. &pssam Cunlarener Qs1BEs8 Wi ?
auLLy GuamEE auels Bmuy wadwunraGsr HmGurd uem ksmg
G(hH BI_iq.6hT SLsbT (PenmaE (PHESAWD TS TG0
A)  maben B Y
C)  uiklaen D)  iormiags.
Who has given the following quotation ?

“What is a Bank balance is to the individuals, the money market is to the
countr’s credit system.” -

A) Sykes B) A.C. Pigou
,Cj’ Burgess Dj  Marshall.
188. &pseullLBaemaunfe a5 seupns SunmpssuuBssuvLHerag 7
I.  Qurmemngny Hifmssn P.V. prélibiorme
. pemfisenas b M.R.T.P. '
W seefu Crrg (105680 CoAw euriud
V. Qurmenngrré Sidlmssib Couamnadnr cuani&Auiled Casableney.

A) IVl (Hib B) il v (b
C) IV phgb 111 | D) 1L, I whmi IV.
Which one of the following is wrongly matched ?
L Economic Reform - P.V. Narasimha Rao
1. Industrial Policy - MRTP
IlI. Foreign Direct Investment -  Nationalised Banks
IV. Economic Reform - Stagnation in Agriéultural growth.
A) IV alone B) III alone |
&7 IV and III D) 11, Iif and IV.
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189. sevelis S b whmibd Bieursn ubpdiu CsAwl udsmesssad Spsseair
ueflllenens Qaiwls uswllébs L Heneng
A)  wrflevhisEnsEs sael auamisds UL fismen au@ss
B} wifleorisens@é sl euaiifg vewflasner Cumblaneten
C)  wnileonsgné@s sl aumisdls GHIEoH swrfss
D) mn@m@&@ég& sevall eusniidd LuhHfw o Ceonsenensener euphis.
National University of Education, Planning and Administration (NUEPA) is
entrusted the duty :
A) to plan Educational Development Schemes to the States
B) to execute Educational Development activities to the States
_C¥” to compute Education] Development Index to the States
D}  to give Educational Development advices to the States.
190. Gunmemngry cupL & e SHHSMS L (HRnsHweut
A} eueveoumi L GLed B) geuanmieonsd Crm
C)  grgmumd BeuGyred D) seugpiilevemev.
The idea of Eéonomic drain wés ;;ropounded by :
A) Vallabhai Patel _ - B)  Jawaharlal Nehru
/Qf Dadabhai I‘\Iaoroji ' D) none of these,
191.l Spsacnaunpmiied Bdluigel Clumib S riser wreney ?
I Gadw mdlast ungasriy S
II. GClssenen wissy o6 ungua:rn.';lqg, Sl
1. Gadlwu ussmws Lullissr
V. Gsdlu gflsen ung]a,nuqé, S b,
A TwhHoub Il B} L, Il whmyb Il

C) 1wl _ D} IV wl @b
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Which of the following are the centrally sponsored schemes ?
L National River Conservation Plan
II. - Chennai City River Conservation Project
[II. National Green Corps
IV.. National Lake Conservation Programme.
A I&I B L&
Q) I alone D} IV alone.
192. siu Gleuln wrHPEsEHEsTer HCwr Cn SCLm_ndsen eiGungy BEHwunr
6@@&Qanmgg.j ?
A) 2002 gyseivl 7ib Cadl
B) 2004 gumeivr 71b Csd
C} 2003 gyaeiv 171> Gzdl
D) 2004 gymev 17 Cadl.
When did India ratify Kyoto Protocol on climate change ?
o )c)/ 7th August 2002 B) 7th August 2004
C)  17th August 2003 D)  17th August 2004.
193. 2009 e wa aemisdl yfsmelienug 2007 & geor eflssdl psiene

BpruEwswnsd srauflasiubsss.

1. &ewn
II. L. 67610. 61,
11, o [WIN] {2
V.  @pdun
. A) L LI IV B) I 1,11V
)2)” I, 11, 1, IV D) IV,.III,I!, 1.
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Rank the per capita consumption of energy in 2007 in descending order as per

the World Development Report, 2009 :

I. China

I. USA

II. Japan

Iv. India
A) LI, IV B) I, I, III, IV
C)  ILILILIV D) Iv, I L

194. @ndw Grillso CursGursss gienp auGung Bmeuiul Lg ?
A) . 1953 B) 1935
c) 1835 ' | D) 1853
When was Indian Railways established ?
A} 1953 | B) 1935
c) 1835 P17 18s3.
195. Spsaan Lssasms aupdweui wnf ?
“The future of private enterprise”
A} BeSishy Cansoi B)  eogebvenii
C) gomigy sml_ir | D) Shlii Lrési.

“The future of private enterprise” is written by

A)  Philip Kotlers B) Steiner
/Q)’ George Goyder D)  Peter Drucker.
196. wefiGLnr (UNIDO) stsbimy Blmieutiu L gy ?

A)  gmeweufl 1967 B) meweufl 1957
C) geursufl 1947 D) geweufl 1977,

When was UNIDO set up ?

/M/ Jan 1967 | B} Jan 1957 .
C} Jan 1947 D) Jan 1977.

.\\ -
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197. prewnwugengli Senemnefled eumbigibLg o L g&EL e eﬁhbusbmmu{ eCr

g

ufleutsgemenied Cleuieug) ................ aren BemPssLILBHE DS
A) g Crg

B) Oeafliisbd

C) aﬁémﬁl shoeumL)

1)

wrHm0 uenflaen.

A spot sale of a currency when combined with a forward repurchase in a single

transaction is called ................. .

A)

B)

D)

Arbitrage
Hedging
Currency S\;vap

Transfer function.

198. USA iyu,Grr gt siv_mqeivigSeiv saphileiiuig. 2010 Syib L@ G whssnelsd

A

-

........ Sevefwerr Hpemwwsner Qgmfleonemiser Gomaiu@Gib. eutsemen

SQwfisar, @HHwr whmib Fen gpevb GubHms GansEpb.

B)
<)

D)

167.75 ededlwei
157.72 BeveSuwisin
160.10 BlsbeSiuieir

140.11 1HleveSlwish,

According to US Bureau of Labour Statistics, by 2010 USA might need

......... million skilled workers, which will be outsourced from countries like

India and China.

B)
C)

D)

167.75 million
157.72 million
160.10 million

140.11 million.
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199. 2 pusdl Qurgissoflme wopmib uflaigsmens CQuisé swllensemuup
@enpnsl unieusHEs Coemeu

200.

A)

B)

<)
D)

naiCunisalen Snidfme o murbndsd BnHBmon UG
daps8hEé swwrs Qmessd Couan@wb

Brem@® msiGaniacflss MRSxy gmeumsE qmeui swwrs Bmss
Ceuetmr(pid )

A whpib B sy Bresor®ib
Bdled sigyayb edemev.

The general equilibriumn of production together with the general equilibrium of

exchange requires

A) .

B)

D}

marginal rate of transformation equal to marginal rate of substitution of
consumers '

MRSxy of two consumers are cqual
Both A and B

none of these,

eSlwnstmginlles oenefi (B wHpL Ceusfluft @ wrdf Gemeugmn s@Carmen
Sigliuen_wng Gl&nsrL_gi ‘

A)
B)
C)
D)

aaihgIClses Lgpwelleneneay sbld)
wrord L shlensney ebid)
©&mDha 5 ugwellensney eflf
Bdleév siginyb Devene.

Leontief’s Input — Output model is based on the assumption of :

A)
B)

increasing returns to scale

constant returns to scale

ﬁr diminishing returns to scale

D)

none of these. ~

e o
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